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I will refer to the results appearing in the article “A Self-Dual Hopf Algebra
on Double Partially Ordered Sets” by the numbers under which they appear in
this article (specifically, in its version of 21 May 2009, posted on the arXiv as
arXiv preprint arXiv:0905.3508v1).

5. Errata

* Various places (including Theorem 2.1): You claim that ZD is a self-dual
Hopf algebra. The notion of self-duality that you are using, however, dif-
fers from the notions of self-duality commonly used in literature. In partic-
ular, a standard definition of a self-dual Hopf algebra H requires it to have
a bilinear form which provides a Hopf algebra isomorphism H — H*. This
is not satisfied for ZD: In fact, the bilinear form (-, -) on ZD gives rise to
a Hopf algebra homomorphism ZD — (ZD)"* which is not bijective. (It is
in fact injective, but you do not prove this; instead, this is a consequence of
[Foissy11, Theorem 36 1.].)

* Page 2, §2: Replace “if x € Jand x < y” by “if x € S and x < y”.

* Page 3: Replace “We define a pairing (,) : ZD x ZD — Z for any double
posets E, F by:

(E,F):=|{a: E — F, ais a picture}|
” by “We define a pairing (,) : ZD x ZD — Z by:
(E,F) :==|{a: E — F, ais a picture}| for any double posets E, F.
e Page 3: Replace “(E® G,6G)” by “(E® F,G)”.

 Page 3, proof of Theorem 2.1: Replace “I N F is an inferior ideal of (E, <1)”
by “I N F is an inferior ideal of (F, <1)”.

¢ Page 4, proof of Theorem 2.1: In “I is an inferior ideal of G”, replace the
“G” by a “G” (in mathmode).

e Page 4, proof of Theorem 2.1: In “take g, ¢’ in G”, replace the “G” by a
“G” (in mathmode).
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¢ Page 4, proof of Theorem 2.1: Replace “ordre” by “order”.

* Page 4, proof of Theorem 2.1: Replace “a bijection « : E — G” by “a
bijection « : EF — G”.

7

* Page 4, proof of Theorem 2.1: Replace “doubles posets” by “double posets”.

* Page 4, §2.2: Replace “over all 7r-partitions” by “over all 7r-partitions x into
X"

* Page 4, §2.2: Replace “algebra of quasi-symmetric function” by “algebra of

quasi-symmetric functions”.

e Page 4, §2.2: Replace “commuting variables Y” by “commuting variables
Y” (the “Y” should be in mathmode).

e Page 5, §2.3: Replace “Let ¢ : (E,<1) — (F,<2) be a bijection” by “Let
¢ : E — F be a bijection”. (You really mean a bijection between sets here,
and poset structures are not relevant to it.)

¢ Page 5, §2.3: The internal product is non-unital (i.e., there exists no element
e of ZD such that every b € ZD satisfies eob = boe = ¢). When I hear
“product”, I normally tend to expect that it has a unit, which is why I think
this should be pointed out explicitly.

On the other hand, what is true is that the internal product is associative.
See Proposition [6.1] below for a proof.

* Page 5, Lemma 2.1: Replace “and and” by “and”.
¢ Page 5, Lemma 2.1: Replace “and B a picture” by “and f is a picture”.

¢ Page 5, proof of Lemma 2.1: Replace “the projection F x G — F” by “the
projection F Xy G — F”.

¢ Page 5, proof of Lemma 2.1: Replace “the projection E x F — F” by “the
projection E x4 F — F”.

* Page 5, proof of Lemma 2.1: In “Now B maps bijectively E into F x4 G”,
replace II¢I’ by llwll.

e Page 5, proof of Lemma 2.1: Replace “a~ (¢ (f) = (¢~ (f), f)” by “a™ (v (f)) =
(@~ (). f)"-

e Page 5, proof of Lemma 2.1: Replace “B(e) = (¢ (e), (¢ (e))” by “B (e) =
(@ (e), ¥ (¢(e))”

e Page 6, proof of Lemma 2.1: Replace “p’ = ' by “p' = B”.
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* Pages 6-7, §3.1: Here you define a bialgebra structure on ZS and claim
that it is the one constructed in [MR]. It would be helpful to make this
somewhat more precise: In [MR] you have defined two different (albeit
isomorphic) bialgebra structures on ZS, and the one that you are talking
about is the one that you have called (ZS,*’,A’) in [MR] (rather than the
one you have called (ZS, *,A) or simply ZS in [MR]).

* Page 7: Replace “each special double poset on the sum” to “each special
double poset to the sum”.

* Page 7: Replace “diagramm” by “diagram”.
e Page 7, proof of Theorem 3.1: “a lower” should be “an inferior”.
e Page 8, proof of Theorem 3.1: Replace “st (v) = ¢” by “st (v) = B”.

¢ Page 8, proof of Lemma 3.1: The proof should start with the sentence
“Write the special double posets 7t and 77’ in the forms © = (P, <1, <3)
and v’ = (P, <1, <3), respectively”, so that P and P’ are defined.

* Page 8, proof of Theorem 3.2: Replace “let ¢ be increasing (E, <;) —
(F, <2) = {1,...,n}" by “let ¢ be an increasing bijection (E, <1) — (F, <z) =

{1,...,n}".

* Page 8, proof of Theorem 3.2: Replace “as in Section 2.2” by “as in Section
2.3".

* Page 8, proof of Theorem 3.2: Replace “c—10¢~ 1" by “ctogp~1".
e Page 8, proof of Theorem 3.2: Replace “L (7r) L (77')” by “L (rt) o L (')”.
* Page 9, §3.1: Replace “c;...,ct” by “cy, ..., c”.

* Page 9, §3.1: Replace “Section 3” in “Section 2.2” in “Recall that the bial-
gebra homomorphism I' : ZD — QSym has been defined in Section 3”.

* Page 9, §3.2: The formulation “the word obtained from w by exchang-
ing 1 and k in w , then 2 and k — 1, and so on” is ambiguous (the “and
so on” could be misunderstood to end at “k and 1”, which would entail
that the complement of w is w itself). I think a clearer definition of the
complement would be: If w = wjw,...w, is a word (with wy,wy, ..., wy
being its letters) whose letters belong to {1,2,3,...}, and k is the high-
est letter appearing in w, then the complement of w is defined as the word
(k+1—-wy) (k+1—wy)...(k+1—wy).

* Page 9, §3.2: You define the weight of a word as follows: “The weight of
a word w is the partition v = 1"2"..., where n; is the number of i’s in
w. For the word above, it is the partition 142331.” This notion of a weight
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(while clearly well-defined) is very unlikely to be the one that you want:
indeed, it makes some of your statements below (“there is a well-known
bijection between standard Young tableaux of shape v and lattice permuta-
tions of weight v”, and Theorem 3.4) false. Instead, I believe that you want
to define a different notion of weight, namely the following one: “The
weight of a word w (on the symbols 1,2,3,...) is defined as the sequence
(n1,ny,n3,...), where n; is the number of i’s in w. When w is a lattice per-
mutation (but also in some other cases), this sequence is a partition. For
example, the weight of the word 11122132 is (4,3,1,0,0,0,...) = (4,3,1).”

* Page 9, §3.2: Replace “w fits into w” by “aya; .. .ay fits into t”.

e Page9, §3.2: Replace “f (w (1)) ...f (w (n))” by “f (w1 (1)) ...f (0™t (n))”.

* Page 9, §3.2: Replace “we have that 7 fits into 77”7 by “we say that 7 fits into
m”.

* Page 9, §3.2: Replace “and where <; is given on the elements of E, by
(v,y) <2 (¥,y') if and only if either y > ¢/, or y = ¥ and x < x’” by
“and where <; is given on the elements of E, by (x,y) <, («/,y') if and
only if either x > x’, or x = 1" and y < ¥’ (in other words, <, compares
two cells of E, by decreasing row number, or, when the rows are equal, by
increasing column number)”. This definition is needed to ensure that the
reading word in the example on page 10 is the right one.

e Page 9, §3.2: Let’'s be self-contained: After “Recall that there is a well-
known bijection between standard tableaux of shape v and lattice permu-
tations of weight v, see [S1] Prop.7.10.3 (d).”, add: “Explicitly, this bijec-
tion sends a standard tableau T with n entries to the lattice permutation

riry...ry, where ¢ is the number of the row in which the entry k lies in
T..

e Page 10, Theorem 3.4: Replace “(7t, ry)” by “(7, 17,,)".

¢ Page 10: Replace “[Ma] (9.2)” by “[Ma] (Chapter 1, (9.2))”. In the same
sentence, replace “[S1] Th.A.1.3.3” by “[S1] Theorem A1.5.3".

Another reference for the same result is [Gashar98, Theorem 1.2] for 8 = @.

* Page 10: You claim that part (ii) of Theorem 3.4 “is the classical formulation
of the Littlewood-Richardson rule”. I find this misleading, since Theorem
3.4 comes nowhere close to proving the Littlewood-Richardson rule (about
the Hall inner product of a skew Schur functions with a Schur function).
What is true is that Theorem 3.4 looks like the Littlewood-Richardson rule,
but it differs from it in that it gives an expression for a scalar product
(r, ry) on ZD, while the Littlewood-Richardson rule gives an expression
for a Hall inner product (s, ,,,sy) on the ring of symmetric functions. That
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the expressions are equal (when 7t is a skew Ferrers diagram 7, /,,) makes
the two results similar, but I do not think it allows to derive one from the
other. Or am I missing something simple?

¢ Page 10, proof of Lemma 3.2: Replace “7 fits into 7" by “a permutation
tits into 7”.

¢ Page 10: You write that Proposition 3.1 “is equivalent to a result of Stanley,
see [G] Th.1 or [S1] Th.7.19.14”. There is no Theorem 7.19.14 in [S1]; 1
suspect that you mean Theorem 7.19.4 instead. (Besides, the equivalence
of your Proposition 3.1 to the result of Stanley that you mention is not
completely obvious. See below for a different proof of Proposition 3.1,
which in my opinion is simpler than deriving it from Stanley’s result.)

¢ Page 10, example below Proposition 3.2: “whose inverseis5392610111467”
should be “whose inverse is 539 2 6 10 11 1 4 7 8” (the last two letters
were wrong).

* Page 11, Lemma 3.3: Replace “v = (11 > ... > v > 0)"by “v = (v; > ... > 1, > 0)".

* Page 11, proof of proposition: “Proof of proposition” should be “Proof of
proposition 3.2” (it is not the only proposition around).

* Page 11, proof of proposition: Replace “Lemma 5.2” by “Lemma 3.3”
twice.

¢ Page 11, proof of proposition: Replace “done in(i)” by “done in (i)”.

¢ Page 12, proof of theorem: “complements of lattice permutation” — “com-
plements of lattice permutations”.

6. Additional details and proofs

Note: The below addenda were written in approx. 2014, as an exer-
cise in understanding and formalizing some arguments in this paper
and in the theory of combinatorial Hopf algebras in general. I was
neither trying to be concise nor good at mathematical writing; instead
I was attempting to prepare the arguments for formal verification (a
project that has yet to materialize). -DG, 2024

6.1. Page 5, §2.3: associativity of the internal product

Let me add an additional fact: The internal product o is associative. In other
words:
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Proposition 6.1. Any three elements E, F and G of ZD satisfy (EoF) oG =
Eo(FoG).

Before we prove this, let us first establish some notation.

Definition 6.2. Let A and B be two sets. Let <p denote the smaller relation of
a partial order on B. (We write this relation < in infix notation; this means
that, if b and b’ are two elements of B, then we write b <p b’ for (b,b') € (<p).)
Let f : A — B be a map.

We define a new binary relation (< B)f on the set A as follows: For any two
elements a and a’ of A, we set a (<p)’ a’ if and only if f (a) <p f (a’). (Here,
we again write the relation (<B)f in infix notation.)

Proposition 6.3. Let A and B be two sets. Let <p denote the smaller relation
of a partial order on B. Let f : A — B be a map. Then, the binary relation

(< B)f is the smaller relation of a partial order on A.

Proof of Proposition Let us write both relations <p and (<)’ in infix nota-
tion.

We know that the relation <p is the smaller relation of a partial order. In other
words, the relation <3y is irreflexive, transitive and asymmetric.

We now notice that the relation (< B)f is irreﬂexiv transitiveH and asymmet-

ri In other words, the relation (< B)f is the smaller relation of a partial order

LProof. Let a € A be such that a (<B)f a. We recall that a (<B)fa holds if and only if f (a) <p
f (a) (according to the definition of “a (< B)f a”). Hence, f (a) <p f (a) must hold (because

a (<B)f a holds). But this contradicts the fact that the relation <p is irreflexive. We thus have
found a contradiction.
Now, let us forget that we fixed a. We thus have found a contradiction for each 2 € A

satisfying a (<)’ a. Therefore, there exists no a € A satisfying a (<)’ a. In other words, the
relation (<)’ is irreflexive. Qed.

2Proof. Let a, a’ and a” be three elements of A such that a (<)’ @’ and @’ (<)’ a”. We shall
prove that a (<)’ a”.

We recall that a (<B)f a’ holds if and only if f (a) <p f (a’) (according to the definition of
“q (<)’ a'"). Thus, f (a) <p f (a') must hold (since a (<)’ @’ holds).

We recall that @’ (<)’ a” holds if and only if f (a') <p f (a”) (according to the definition
of “a’ (<) a"”). Thus, f (') <p f (a) must hold (since a’ (<)’ a” holds).

From f (a) <p f (a') and f (a’) <p f (a"), we obtain f (a) <p f (a”) (since the relation <p
is transitive).

We recall that a (<)’ a” holds if and only if f (a) <g f (a”) (according to the definition of
“q (<) a""”). Thus, a (<)’ @ must hold (since f (a) <3 f () holds).

Now, let us forget that we fixed a, a’ and a”. We thus have shown that if 4, a’ and 4" are
three elements of A such that a (<) a’ and a’ (<) a”, then a (<) a”. In other words, the
relation (<)’ is transitive. Qed.

3Proof. 1t is known that every irreflexive and transitive relation is asymmetric. Applying this

!/

~—
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on A (because the smaller relations of partial orders are characterized by being
irreflexive, transitive and asymmetric). This proves Proposition O

The following proposition, while not needed in the proof of Proposition
will be useful much later:

Proposition 6.4. Let A and B be two sets. Let <p denote the smaller relation
of a total order on B. Let f : A — B be an injective map. Then, the binary

relation (<g)’ is the smaller relation of a total order on A.

Proof of Proposition Let us write both relations <p and (< B)f in infix nota-
tion.

The relation <p is the smaller relation of a total order on B, and therefore also
the smaller relation of a partial order on B. Hence, Proposition [6.3| shows that

the binary relation (< B)f is the smaller relation of a partial order on A. It now
remains to prove that this partial order is total.

Every two distinct elements a2 and a’ of A satisfy either a (<) a’ or a’ (<) a
Thus, the binary relation (< B)f is the smaller relation of a total order on A

(since we already know that the binary relation (<B)f is the smaller relation of
a partial order on A). This proves Proposition O

to the relation (< B)f , we conclude that the relation (< B)f is asymmetric (since (< B)f is
irreflexive and transitive).

4Proof. Let a and a’ be two distinct elements of A. Then, a # a’ (since a and a’ are distinct). If
we had f (a) = f ('), then we would have a = 4’ (since the map f is injective), which would
contradict a # a’. Hence, we cannot have f (a) = f (a’). Thus, we have f (a) # f (a’). In
other words, the elements f (a) and f (a’) of B are distinct.

But we know that <p is the smaller relation of a total order on B. Thus, if b and b’ are
two distinct elements of B, then either b <p b’ or b’ <p b. Applying this to b = f (a) and
b' = f(a"), we conclude that either f (a) <p f (a’) or f (a') <p f (a). We thus are in one of
the following two cases:

Case 1: We have f (a) <p f (a').

Case 2: We have f (a') <p f (a).

Let us first consider Case 1. In this case, we have f (a) <p f(a’). Thus, a(<3)f a
(because we have a(<B)f a' if and only if f(a) <p f(a') (according to the defini-
tion of “a(<p)/ a’”)). Hence, either a (<) a' or a’' (<) a. We thus have shown that
(either a(<p) a ora (<p)f a) in Case 1.

Let us now consider Case 2. In this case, we have f (a') <p f(a). Thus, 4 (<B)fa
(because we have @' (<) a if and only if f(a') <p f(a) (according to the defini-
tion of “a’ (<p)’ a”)). Hence, either a(<p)’ @’ or a’(<p)/ a. We thus have shown that

(either a(<p) a ora (<p)f a) in Case 2.
Now, we have proven (either a (<B)f a ora (<B)f a) in each of the two Cases 1 and 2.

Since these two Cases cover all possibilities, this yields that (either a(< B)f a ora (< B)f a)
always holds. Qed.




Errata to “... Double Partially Ordered Sets” February 2, 2025

We now show the main tool with which we will work in our proof of Propo-

sition [6.1t

Lemma 6.5. Let (E, <p1, <p») and (F, <p1, <p2) be two double posets.
(a) For every bijection ¢ : E — F, we have

(E, <e1,<p2) X¢ (F, <1, <p2) = (F, <F1, (<E2)¢71> as double posets.
(b) We have
-1
(E, <1, <p2) o (F,<Fr1,<p2) = Y. (F/<F1;(<E2)4) >
¢ is an increasing
bijection (E,<p1)—(F,<p2)
in ZD.
(c) For every bijection ¢ : E — F, we have
(E, <p1,<p2) X¢ (F, <p1,<p2) = (E, (<p1)¢ , <E2) as double posets.
(d) We have
(E,<p1,<p2) o (F,<p1,<p2) = ) <Er(<F1)¢/<E2)

¢ is an increasing
bijection (E,<p1)— (F,<p2)

in ZD.

Proof of Lemma [6.5] We shall use the abbreviation E for (E, <g1, <g2), and we
shall use the abbreviation F for (F, <p1, <p2)-
The definition of the set E X F yields

ExogF={(ef) cEXF | ¢(e) = f}
={(wv) cEXF | ¢(u) =0} ©)
(here, we renamed the indices e and f as u and v). Clearly, this shows that
E xy F C E x F. The definition of the double poset E Xy F shows that E xy F =
(E x4 F,<1,<2), where any two elements (¢, f) € E Xy F and (¢/,f') € E x4 F
satisfy
((e,f) <1 (¢/,f") if and only if f <p1 f') 2)

and
((e,f) <2 (¢/,f') ifand only if e <pp €'). (3)

(a) Let ¢ be a bijection E — F. Hence, ¢! is a bijection F — E. Thus,
Proposition (applied to F, E, <pp and ¢! instead of A, B, <p and f) shows
that the binary relation (< 1;2)4’_1 is the smaller relation of a partial order on F.
Hence, (F, <r1, (< Ez)q’fl) is a well-defined double poset.
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Define a map p, : Ex¢ F — F by (p2(e, f) = f forevery (e, f) € E x4 F).
Thus, p; is the projection on the second component. On the other hand, consider

the map (¢~1,id) : F — E x4 F which sends every f € Fto | ¢~ (f),id (f) | =
N~
=f
(91 (f).f) € ExgF [l The maps p; and (¢',id) are mutually inverse?]
Hence, these two maps p, and (¢, id) are invertible and satisfy p, 1= (p~1,id).
The map p, is a poset homomorphism (E x4 F,<1) — (F, <p1) |Z| and a

SLet us check that this map (¢~ !,id) is well-defined:
Fix f € F. Then, (¢! (f), f) is an element of E x F satisfying ¢ (¢~ (f)) = f. In other
words, (¢~ (f), f) is an element (u,v) of E x F satisfying ¢ (1) = v. In other words,

(671 (F)f) €{wo) €EXF | pu) =0} =ExoF  (by @)

Now, let us forget that we fixed f. We thus have shown that (¢! (f),f) € E x4 F for
every f € F. Thus, the map (¢ ,id) is well-defined, qed.
®Proof. Every f € F satisfies

(p2o(97hid)) (N =r2|  (¢7%id) () |=p (o7 () id () =id(f)
| —
=(¢71(Nid(f))
(by the definition of (¢~1,id))
(by the definition of py) .

In other words, p; o (q)_1, id) = id.

On the other hand, let (e,f) € E x4 F. Then, (¢,f) € ExpF =
{(u,v) € EXF | ¢ (u) =0} (according to (I)). In other words, (e, f) is an element (u,0v)
of E x F satisfying ¢ (u) = v. In other words, (e, f) is an element of E x F and satisfies
¢ (e) = f. Now, p2 (e, f) = f (by the definition of pp) and ¢! (f) = e (since ¢ (¢) = f). Now,

((o7%id)op2) e.f) = (¢7"id) | patef) | = (¢97"id) ()
=f

¢ (A0 | = (e f) =id(e ).

~— N~

=e :f

Let us now forget that we fixed (e, f). We thus have shown that ((¢~1,id) o p2) (e, f) =
id (e, f) for every (e,f) € E x¢ F. In other words, (¢~1,id) o p, = id. Combined with
p2o (¢~1,id) = id, this yields that the maps p, and (¢~ !,id) are mutually inverse. Qed.
7Proof. Let g and g’ be two elements of E x4 F satisfying ¢ < §’. We shall show that p; (g) <p1
/
pzl(rigdzeed, §€ExyF={(u,v) €ExF | ¢ (u)=v}. In other words, ¢ has the form (u,v)
for some (u,v) € E x F satisfying ¢ (1) = v. Let us denote this (u,v) by (e, f). Thus, (e, f) is
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. o1 .
poset homomorphism (E x4 F, <p) — (F, (<E2) ) Hence, the map p; is
a homomorphism of double posets (E X¢ F,<q, <2) — (F, <F1, (<52)4’71).
On the other hand, the map p, lis a poset homomorphism (F, <p;) — (Ex¢F,<q)

an element of E x F and satisfies ¢ (¢) = f and g = (e, f). Applying the map p; to both sides
of the equality ¢ = (e, f), we obtain p, () = p2 (e, f) = f (by the definition of p»).

Also, ' € ExyF = {(u,v) € ExF | ¢ (u) =v}. In other words, g’ has the form (u,v)
for some (u,v) € E X F satisfying ¢ (1) = v. Let us denote this (u,v) by (¢, f'). Thus, (¢, f)
is an element of E x F and satisfies ¢ (¢/) = " and ¢’ = (¢/, f'). Applying the map p; to both
sides of the equality ¢’ = (¢/, f'), we obtain py (§') = p2 (¢, f') = f (by the definition of py).

We have (¢,f) = ¢ <1 § = (¢/,f'). Due to @), this yields f <p; f’. In other words,
p2(8) <r1 p2(8') (since p2 (g) = f and p2 (g') = ).

Now, let us forget that we fixed ¢ and g¢’. We thus have proven that if ¢ and ¢’ are two
elements of E x F satisfying ¢ <1 g’, then p> (§) <r1 p2(g’). In other words, the map p,
is a strictly order-preserving map (E x4 F, <1) — (F,<p1). As a consequence, this map p,
is a poset homomorphism (E x4 F, <1) — (F, <p1) (since any strictly order-preserving map
between two posets is a poset homomorphism). Qed.

8Proof. Let g and g’ be two elements of E x, F satisfying g <, g’. We shall show that

-1
p2() (<p2)” p2(g").
Indeed, ¢ € E x¢ F = {(u,v) € ExF | ¢ (u)=v}. In other words, ¢ has the form (u,v)

for some (u,v) € E x F satisfying ¢ (1) = v. Let us denote this (u,v) by (e, f). Thus, (e, f) is
an element of E x F and satisfies ¢ (¢) = f and g = (e, f). Applying the map p; to both sides
of the equality ¢ = (e, f), we obtain p, () = p2 (e, f) = f (by the definition of p»).

Also, ' € ExyF = {(u,v) €ExF | ¢ (u) =v}. In other words, g’ has the form (u,v)
for some (u,v) € E X F satisfying ¢ (1) = v. Let us denote this (u,v) by (¢, f'). Thus, (¢, f)
is an element of E x F and satisfies ¢ (¢/) = " and g’ = (¢/, f'). Applying the map p; to both
sides of the equality ¢’ = (¢/, f'), we obtain p, (¢') = pa2 (¢, f') = f (by the definition of py).

We have (¢, f) = g <z & = (¢/, f). Due to (3), this yields e <p, ¢’. Since ¢ (¢) = f, we have
e=¢ 1 (f),sothat g~ (f) =e<p e =L (f') (since ¢ (¢') = f).

But f(<p)? lf’ holds if and only if ¢~ (f) <p ¢ ' (f") (due to the definition of
“f(<p)? f'). Thus, f(<g)? f' holds (since ¢~ (f) <p» ¢~ (f') holds). In other

—1
words, p2 (8) (<p2)?  pa (g') holds (since py (¢) = f and py (§') = ).
Now, let us forget that we fixed ¢ and ¢’. We thus have proven that if ¢ and ¢’ are two

elements of E x4 F satisfying ¢ <, ¢/, then p; (g) (< 52)4’_1 p2 (¢'). In other words, the map
p2 is a strictly order-preserving map (E x4 F, <2) — (P, (< 52)4)7] ) As a consequence, this
map p, is a poset homomorphism (E x4 F, <) — (F, (< 52)4)71) (since any strictly order-
preserving map between two posets is a poset homomorphism). Qed.

10
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Hand a poset homomorphism <F, (<E2)¢_1> — (Exg¢F,<5) Hence, the

map p;l is a homomorphism of double posets (F, <F1, (<E2)¢71> — (E x¢ F,<1,<2).
Now, we know that the map p; is a homomorphism of double posets

9Proof. Let f and f’ be two elements of F satisfying f <p; f’. We shall prove that p, ! (f) <1
=1 (g
Py (f):

We have py' (f) = (p7Lid) (f) = <¢1 (f),id(f)) = (¢71(f),f), so that
~—~—~ N——

=(¢7%id)
(@Y (f).f) =py " (f) EExyF.

Also, p' () = (0 Lid)(F) = |9 (Mad(F) | = (@07 (F).f), so that
~— ——

(¢ Lid) =
(0 () f) = P2 (f) € ExyF.
Now, (applied to ¢~ 1(f) and ¢ 1(f') instead of e and ) yields

((¢72(f), f) <1 (971 (f"),f') if and only if f <p1 f') (since (¢~ (f),f) € E x4 F and
(971 (f"),f") € E x¢ F). Thus, we have (¢~1(f),f) <1 (¢~ (f"),f") (since f <p f'). In

other words, p, ' (f) <1 p ' (f') (since p; " (f) = (971 (f). f) and p, " (f') = (¢ (f') , f')).
Now, let us forget that we fixed f and f’. We thus have shown that if f and f’ are two

elements of F satisfying f <r1 f', then p; ! (f) <1 p, ' (f'). In other words, the map p, ' is
a strictly order-preserving map (F, <p1) — (E x¢ F,<1). As a consequence, this map p, !
is a poset homomorphism (F, <p1) — (E x4 F, <) (since any strictly order-preserving map
between two posets is a poset homomorphism). Qed.

19Proof. Let f and f’ be two elements of F satisfying f (<Ez)qu f'. We shall prove that p,  (f) <2
Py ().

We have f (<E2)¢71 f" if and only if ¢~ (f) < ¢! (f') (due to the definition of

“f (<Ez)4’71 f'”). Thus, we have ¢! (f) <z ¢~ (f') (since we have f (<Ez)‘/’71 ).

We have pil (f) = (pLid)(f) = [¢7 (Fid()| = (07 (H).f). so that
~~~ S~

:(4;71,101) =f
(@1 (f).f) =p3' (f) €ExyF.

Also, py' (f) = (¢7Lid) (f) = ¢ (M) id(f) | = (7" (f).f), so that
~~ ——
=(9~tid) =/
(e (), ) =py ' (f) €ExyF,

Now, (@) (applied to ¢~ '(f) and ¢ '(f') instead of e and ¢/) yields
(@71 (). f) <2 (971 (f),f") ifand only if 71 (f) <p2 ™' (f')) (since (7' (f),f) €
E x¢ Fand (971 (f'),f') € E x4 F). Thus, we have (¢~ (f),f) <2 (¢~ (f'),f') (since
¢~ (f) <e2 7" (f')). In other words, p;* (f) <2 py" (f') (since p3 ' (f) = (¢7" (), f) and
pr (F) =@ (). )

Now, let us forget that we fixed f and f’. We thus have shown that if f and f’ are two

elements of F satisfying f(<;;2)"’_1 f', then p; ' (f) <2 p5' (f'). In other words, the map

p, ! is a strictly order-preserving map (F, (< Ez)¢71> — (Ex¢F,<2). As a consequence,

11
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(ExgF,<1,<2) — (F, <p1,(<152)¢_1>, while its inverse ;92_1 is a homomor-
phism of double posets (F, <F1, (<E2)4’71) — (E x¢ F,<1,<2). In other words,
p2 is an isomorphism of double posets (E x4 F, <1, <p) — <F, <r1, (<E2)¢71)-
Thus, the double posets (E x4 F, <1, <) and (F, <F1, (<E2)¢_1> are isomorphic.

That is, we have (E x4 F, <1, <z) = (F, <r1, (<E2)¢71) as double posets. Hence,

E X(pF = (E X¢ F, <1,<2) = (P,<F1,(<E2)¢71) (4)

as double posets. Thus,

-1
(E, <p1,<p2) X¢ (F,<p1;,<p) = Exp F = (P, <r1, (<p)? >

N~ N~

—F —F
as double posets. This proves Lemma [6.5] (a).

(b) The definition of E o F shows that E o F is the sum of E Xy F for all increas-
ing bijections ¢ : (E, <g1) — (F, <r2). In other words,

EoF = Yy ExgF
¢ is an increasing —
bijection (E,<p1)—(F,<p2) _ F/<F1,(<E2)¢*1

(according to (@)

= Y. (F, <F1, (<E2)¢_1>

¢ is an increasing
bijection (E,<E1)—> (F,<p2)

in ZD. Thus,
-1
(E,<p1,<p2)o(F,<p,<p)=EoF = Y. (F,<P1,(<E2)¢ )
—F et ¢ is an increasing

bijeCtiOI‘l (EI<E1)_>(F/<F2)
in ZD. This proves Lemma (b).

(c) Let ¢ be a bijection E — F. Proposition [6.3| (applied to E, F, <pj and ¢
instead of A, B, <p and f) shows that the binary relation (< F1)¢ is the smaller
relation of a partial order on E. Hence, <E, (<Fk1 )‘P , < E2> is a well-defined double

poset.
Define a map p; : E x4 F — E by (p1 (e, f) =eforevery (e, f) € E x4 F).
Thus, p; is the projection on the first component. On the other hand, consider

the map (id,¢) : E — E x4 F which sends every e € E to [id(e), ¢ (e) | =
——

=e

this map p, ! is a poset homomorphism (F, (< Ez)‘/’q) — (E x¢ F,<3) (since any strictly
order-preserving map between two posets is a poset homomorphism). Qed.

12
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(e,p(e)) € ExyF E The maps p; and (id, ¢) are mutually inverseEl Hence,
these two maps p; and (id, ¢) are invertible and satisfy p;* = (id, ¢).
The map p; is a poset homomorphism (E x4 F, <1) — <E, (<p1)¢> and

et us check that this map (id, ¢) is well-defined:
Fix e € E. Then, (e, ¢ (e)) is an element of E x F satisfying ¢ (e) = ¢ (e). In other words,
(e,¢ (e)) is an element (u,v) of E x F satisfying ¢ (1) = v. In other words,

(e,¢(e)) € {(uv) €cEXF | ¢(u) =0} =ExyF (by (@) -

Now, let us forget that we fixed e. We thus have shown that (¢, ¢ (e)) € E x¢ F for every
e € E. Thus, the map (id, ¢) is well-defined, qed.
12proof. Every e € E satisfies

(p10o(id, 9)) (e) = p1 (id, ¢) (e) =p1(id(e), ¢ (e)) =id (e)
N—

=(id(e)¢(e))
(by the definition of (id,¢))

(by the definition of py).

In other words, p; o (id, ¢) =

On the other hand, let (e,f) € E x4 F. Then, (¢,f) € ExpF =
{(u,v) € EXF | ¢ (u) =0} (according to (I)). In other words, (e, f) is an element (u,v)
of E x F satisfying ¢ (u) = v. In other words, (e, f) is an element of E x F and satlsfles
¢ (e) = f. Now, p1 (e, f) = e (by the definition of p1). Now,

((id,¢) o p1) (e, f) = (id, ¢) (m(e,f)) = (id,g)(e) = [id () gle) | = (e f) =id(e f).
=¢ =f

=e

Let us now forget that we fixed (e, f). We thus have shown that ((id,¢) op1) (e, f) =
id (e, f) for every (e,f) € E x¢ F. In other words, (id,¢) o p; = id. Combined with p; o
(id, ¢) = id, this yields that the maps p; and (id, ¢) are mutually inverse. Qed.

B3Proof. Let g and g’ be two elements of E x4 F satisfying g <; ¢’. We shall show that
p () (<r)? 1 (8))-

Indeed, ¢ € E x¢ F = {(u,v) € EXF | ¢ (u)=v}. In other words, g has the form (u,v)
for some (u,v) € E x F satisfying ¢ (1) = v. Let us denote this (u,v) by (e, f). Thus, (e, f) is
an element of E x F and satisfies ¢ (¢) = f and ¢ = (e, f). Applying the map p; to both sides
of the equality ¢ = (e, f), we obtain p; (§) = p1 (e, f) = e (by the definition of p;).

Also, ¢’ € ExyF = {(u,v) € ExF | ¢ (u) =v}. In other words, ¢’ has the form (u,v)
for some (u,v) € E x F satisfying ¢ (1) = v. Let us denote this (u,v) by (¢, f'). Thus, (¢, f)
is an element of E x F and satisfies ¢ (¢/) = f' and ¢’ = (¢, f'). Applying the map p; to both
sides of the equality ¢’ = ( , '), we obtain py (¢') = p1 (¢, f') = ¢ (by the definition of py).

We have (e, f) = 8 <1 ¢ = (¢,f). Due to (2), this yields f <p1 f'. Thus, ¢ (¢) = f <p
F' = ¢ () (since ¢ (¢)) = £,

But e (<r;)? ¢ holds if and only if ¢ (¢) <p; ¢ (¢/) (due to the definition of “e (<f)? ¢'”).
Thus, e (<p)? ¢’ holds (since 4)( ) <r1 ¢ (¢') holds). In other words, p1 () (<r1)? p1(g')
holds (since p; (§) = eand p; (¢') = ¢).

Now, let us forget that we fixed g and g’. We thus have proven that if g and ¢’ are two
elements of E x4 F satisfying ¢ <1 g’, then py (g) (< F1)? p1 (). In other words, the map p; is

13
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a poset homomorphism (E x4 F, <2) — (E, <p2) E Hence, the map p; is a
homomorphism of double posets (E X¢ F, <1, <2) — <E, (<1:1)('b , <E2>.

On the other hand, the map p;' is a poset homomorphism (E, (< pl)"b) —

a strictly order-preserving map (E x4 F, <1) — (E, (< p1)4’>. As a consequence, this map p;

is a poset homomorphism (E x4 F, <1) — (E, (< pl)q’) (since any strictly order-preserving
map between two posets is a poset homomorphism). Qed.

4Proof. Let ¢ and g’ be two elements of E x ¢ F satisfying ¢ <, g’. We shall show that p; (g) <p2
p1(8)-

Indeed, g € E x¢ F = {(u,v) € ExF | ¢ (u)=v}. In other words, ¢ has the form (u,v)
for some (u,v) € E x F satisfying ¢ (1) = v. Let us denote this (u,v) by (e, f). Thus, (e, f) is
an element of E x F and satisfies ¢ (¢) = f and ¢ = (e, f). Applying the map p; to both sides
of the equality ¢ = (e, f), we obtain p; (§) = p1 (e, f) = e (by the definition of py).

Also, g’ € ExyF = {(u,v) € EXF | ¢ (u)=0}. In other words, ¢’ has the form (u,?)
for some (u,v) € E x F satisfying ¢ (1) = v. Let us denote this (u,v) by (¢, f'). Thus, (¢, f)
is an element of E x F and satisfies ¢ (¢/) = f' and g’ = (¢, f'). Applying the map p; to both
sides of the equality ¢’ = (¢/, f'), we obtain p1 (') = p1 (¢, f') = ¢’ (by the definition of p1).

We have (e,f) = ¢ <2 ¢ = (¢/,f"). Due to (3), this yields e <p, ¢’. In other words,
p1(8) <r2 p1(g’) (since py (g) = e and p1 (g') =¢).

Now, let us forget that we fixed g and g’. We thus have proven that if g and g’ are two
elements of E x4 F satisfying ¢ <2 ¢/, then p1 (g) <p2 p1(g'). In other words, the map p;
is a strictly order-preserving map (E x¢ F, <) — (E, <p2). As a consequence, this map p;
is a poset homomorphism (E x¢ F, <) — (E, <g2) (since any strictly order-preserving map
between two posets is a poset homomorphism). Qed.

14
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(ExypF,<1) [Tand a poset homomorphism (E, <p) — (E x4 F,<2) [
Hence, the map p; lisa homomorphism of double posets (E, (< p1)¢ , < EZ) —

(E x¢ F,<1,<2).
Now, we know that the map p; is a homomorphism of double posets

15Proof. Let e and ¢’ be two elements of E satisfying e (<r1)? ¢/. We shall prove that prt(e) <1
prt(e).
We have e (<p1)? ¢ if and only if ¢ (¢) <p; ¢ (¢') (due to the definition of “e (<p1)?¢'”).
Thus, we have ¢ (¢) <r1 ¢ (¢') (since we have e (<p1)? /).

Wehave p;' (e) = (id,¢) (e) = | id (e), ¢ (¢) | = (e,¢(e)), so that (e,¢ (e)) = p; ' (e) €
~— ——

=(id) =
E x ¢ F.

Also, pit (¢) = (id,¢)(¢) = [id(¢),¢(e) | = (¢ (e)), so that (¢/,¢(e)) =
~~ ~——
=(id.¢) =¢
pt(e) € Exg¢F.

Now, (@) (applied to ¢(¢) and ¢(¢/) instead of f and f/) yields
((e,p(e)) <1 (¢, ¢ (e')) if and only if ¢ (e) <p1 ¢ (¢')) (since (e,p(e)) € E x¢ F and
(¢/,¢(¢')) € E x¢ F). Thus, we have (¢,¢ (e)) <1 (¢/,¢ (¢')) (since ¢ (¢) <r1 ¢ (¢')). In other
words, p; () <1 py! (¢) (since p7! (¢) = (e, () and py ! (¢)) = (¢, (¢))).

Now, let us forget that we fixed ¢ and ¢/. We thus have shown that if e and ¢’ are two
elements of E satisfying e (<r1)? ¢/, then 2 Le) <4 2 L (¢’). In other words, the map 2 Lis

a strictly order-preserving map (E, (< 1:1)4)) — (E x¢ F,<1). As a consequence, this map p; !
is a poset homomorphism (E, (< pl)‘l’) — (E x¢ F, <) (since any strictly order-preserving

map between two posets is a poset homomorphism). Qed.
16Proof. Let e and ¢’ be two elements of E satisfying e <p, ¢/. We shall prove that p; L) <,

pit (@)

We have pi' (e) = (id, ¢) () = (id () ¢(e)) = (e, (e)), so that (e, (¢)) = py " (e) €

~~ —
=(id¢$) =e
E ><¢ F.
Also, pfl (&) = (id¢)(¢) = |id(¢), 9 () | = (¢,¢(¢)), so that (¢,¢(¢)) =
vy o

pyt(e) € ExgF.

Now, (applied to ¢(e) and ¢(¢’) instead of f and f') yields
((e,p(e)) <2 (¢/,¢(e')) if and only if e <py €) (since (e,¢ (e)) € E x¢ F and (¢/,¢ (¢’)) €
E x¢ F). Thus, we have (e,¢(e)) <2 (¢/,¢(e')) (since e <pp €). In other words,
pi (e) <2 py' (€) (since pyt (e) = (e, ¢ (¢)) and py ! (¢) = (¢, (¢))-

Now, let us forget that we fixed e and ¢/. We thus have shown that if ¢ and ¢’ are two
elements of E satisfying e <py ¢/, then p;! (e) <, p;' (¢/). In other words, the map p; ! is
a strictly order-preserving map (E, <pz) — (E x4 F,<2). As a consequence, this map p; !
is a poset homomorphism (E, <gp) = (E x¢ F, <5) (since any strictly order-preserving map
between two posets is a poset homomorphism). Qed.

15
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(E x¢ F, <4, <2) — <E, (<1:1)¢ , <E2), while its inverse pfl is a homomorphism
of double posets <E, (<r1)?, <E2) — (E x¢ F,<1,<2). In other words, p; is an
isomorphism of double posets (E X¢ F, <1, <2) — (E, (<p1)¢, <E2>. Thus, the
double posets (E Xy F, <, <2) and (E, (<p1)4’, <E2> are isomorphic. That is,

we have (E x¢ F, <1, <2) o (E, (<p1)4’ , <E2> as double posets. Hence,
ExgF = (ExyF <1,<p) = (E, (<F1)¢/<E2) (5)
as double posets. Thus,

(E, <p1,<p2) X¢ (F,<p1,<p) = EXy F = (E, (<r)?, <E2>

=E =F

as double posets. This proves Lemma [6.5 (c).
(d) The definition of E o F shows that E o F is the sum of E x F for all increas-
ing bijections ¢ : (E, <g1) — (F, <pz). In other words,

EoF = y ExyF
¢ is an increasing ~—
bijection (E,<p1)—(F,<p2) =(E(<p1)?<p2)
(according to ()

= Y. (E, (<m)?, <E2>

¢ is an increasing
bijection (E,<E1)—>(F,<F2)

in ZD. Thus,
(E, <p1,<p2)o (F,<p1,<p) =EoF = ) (E,(<F1)¢,<Ez)
:E N ¢ is an increasing
= =F bijection (E,<g1)— (F,<p2)
in ZD. This proves Lemma [6.5] (d). O

Now, we can finally prove Proposition

Proof of Proposition[6.1] Let E, F and G be three elements of ZD. We have to
prove the equality (Eo F) oG = E o (FoG). Since this equality is Z-linear in
each of E, F and G, we can WLOG assume that E, F and G are (isomorphism
classes of) double posets (since (isomorphism classes of) double posets span
the Z-module ZD). Assume this. Let us write the double poset E in the form
E = (E, <g1,<p2). Let us write the double poset F in the form F = (F, <p1, <p2).
Let us write the double poset G in the form (G, <g1, <g2)-

16
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We have

E o F
~— ~~

=(E<e1,<p) =(F<r,<p2)

1
= (E,<p1,<p2) o (F, <r1,<p) = Y. (F, <r1, (<p2)? )

¢ is an increasing
bijection (E1<El ) — (F,<p2)

(by Lemma [6.5] (b))
= Z (F, <F1, (<52)“71>

« is an increasing
bijection (E,<E1 ) — (F,<F2)

(here, we renamed the summation index ¢ as «) .

Thus,

(EoF) o G

— =(G,<c1,<62)
= x <F1<F1r(<52)“71> =(G<a<a

« is an increasing
bijection (E,<p1)—(F,<p2)

= Y. (F <r1, (<p)" (G, <c1,<c2)

« is an increasing
bijection (E,<p1)—(F,<p2)

X~
= Y. (F <F1, <E2) (G, <61, <c2)
« is an increasing ~
bijection (E,<p1)—(F,<p2)

-1
= L (F/(<G1)¢r(<E2)“ )
¢ is an increasing
bijection (F,<p1)—(G,<g2)

-1
(by Lemma [6.5](d), applied to F, <p1, (<g2)* , G, <g1 and <¢»
instead of E, <p1, <pa, F, <p1 and <pp)

(since the operation o is Z-bilinear)

= )3 ) (F,(<G1)4’,(<E2)“71)

« is an increasing ¢ is an increasing
bijection (E,<p1)—(F,<p2) bijection (F,<p1)—(G,<g2)

= )3 > (Ff(<cl)ﬁf(<ﬁ2)“il>

« is an increasing B is an increasing
bijection (E,<g1)—(F,<p2) bijection (F,<p1)—(G,<c2)

(here, we renamed the summation index ¢ as 8 in the inner sum)

- 3 )y (F.(<a)f (<e2)") ©)

¢ is an increasing B is an increasing
bijection (E,<g1)—(F,<p2) bijection (F,<p1)—(G,<g2)

(here, we renamed the summation index « as ¢ in the outer sum).

17
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On the other hand,
F o G
~~ ~—~—
=(F,<r,<p) =(G,<c1,<c2)

- (F/ <F1, <F2) o (Gl <G1, <G2) = Z <F1(<Gl)¢/<F2)

¢ is an increasing
bijection (F,<r1)—(G,<g2)

by Lemma [6.5](d), applied to
F, <r1, <r2,G, <g1 and <gp
instead of E, <p1, <p2, F, <pp and <p

= ). <F1(<Gl)ﬁf<1-"2>

B is an increasing
bijection (F,<p1 ) — (G,<Gz)

(here, we renamed the summation index ¢ as f).

Thus,
E o (F o} G)
=(E,<p1,<p2)
<EU<E2) _ 3 <F,(<Gl)ﬁ,<F2>

B is an increasing
bijection (F,<p1)—(G,<g2)

= (E,<p1,<p2)© Z <F1(<G1)ﬁI<F2>

B is an increasing
bijection (F,<fr1)—(G,<g2)

= ) (E,<p1,<p2)o° <F1(<Gl)ﬁz<F2>
B is an increasing ~ ~ -
bijection (F,<r1)—(G,< -1
J ( Fl) ( GZ) _ . Z . <F1(<Gl)'Bl(<E2)¢ )
¢ is an increasing
bijECtiOH (E,<E1)*}(P,<F2)

(by Lemma|6.5] (b), applied to (<c1)P
instead of <p1)

(since the operation o is Z-bilinear)

= Z E (Fz(<G1)ﬁz(<E2)¢il>

B is an increasing ¢ is an increasing
bijection (F,<F1 ) — (G/<G2) bijECtiOI‘l (E1<E1 ) — (F,<p2)

-~

= D L
¢ is an increasing B is an increasing
bijection (E,<p1)—(F,<p2) bijection (F,<r1)—(G,<g2)

= L Y (F(<a)?, (<e2)? ).

¢ is an increasing B is an increasing
bijection (E,<g1)—(F,<p2) bijection (F,<p1)—(G,<c2)

Compared with (6), this yields (Eo F) o G = E o (F o G). This proves Proposition
6.1] O

18
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6.2. Page 5, proof of Lemma 2.1: an alternative argument

In the proof of Lemma 2.1, you take several lines (starting with “Moreover, let
(f,8),(f",g') € F xy G” and ending with “Finally e <, ¢'”) in order to prove
that the map 71 : (F xy G, <1) — (E, <) is increasing. Here is a different
proof of this: We have = (id, ¢) o ¢. Thus, B is a composition of two bijections
(since (id, ) and ¢ are bijections), thus itself a bijection. In other words, § is
invertible. For every e € E, we have

B (e) =((id,p)op)(e) = (id, ) (¢ (e))
~—
=(id,)o¢

= |id(¢ (), w(¢(e)) | = (¢(e), ¢ (P(e)))-

=¢(e)

Thus, for every e € E, we have

((Pl oalo P2> o ﬁ) (e)

= (poatop) | ple) | =(roatop) @) ¥(9()
=(¢(e).p(¢(e)))

=p|a [ p2(@@,p(@E)) || =p e (plp(e)

— (o ~ 710V
(by the dff(izi(teiz))n of p) (2 oy) (#(e))

since &1 o P =altono <¢_1,id) = (qb_l,id)
=p1 (97 (9(e)),id(@(e))) =9 (9(e))  (by the definition of pi)
=e=id(e).
In other words, (p1oa~!opy) o B =id. Since B is invertible, this yields that

B l=pioatop,. (7)
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But & is a picture, and thus a !

Now, we know that:

is increasing as a map from (G, <1) to (E X¢ F, <2).

o the map p; is increasing as a map from (F xy G, <1) to (G, <1);
e the map a ™! is increasing as a map from (G, <1) to (E x¢ F, <5);

e the map p; is increasing as a map from (E x4 F, <2) to (E, <3).

Combining these, we conclude that the composition p; o a ™! o p; is increasing
-1 : . .
as a map from (F Xy G, <1) to (E, <2). In other words, 7" is increasing as a
map from (F x4 G, <1) to (E, <z) (since Bt = pjoa~1 o py).

6.3. Page 6, proof of Lemma 2.1: an alternative argument
In the proof of Lemma 2.1, you spend several lines to prove that the map a~! :
(G, <1) — (E X¢ F, <2) is increasing. Here is a different proof of this:

We have = ao (¢p71,id) [7]and B = (id,¢)o¢ [ Thus, we can
prove that (7) holds (similarly to how we did it above). In other words, B~! =
proa~topy Thus, pylo B~ op,’ =piloproatoprop, =a!, so

~~~ N—— ~—
=proa—lop, =id =id
that a1 = pl_l o ﬁ_l o pz_l,

But f is a picture, and thus B! is increasing as a map from (F x4 G, <1) to
(E, <2). Now, we know that:

¢ the map p;l is increasing as a map from (G, <1) to (F Xy G, <1),'
e the map B! is increasing as a map from (F xy G, <) to (E, <2);
e the map p; ! is increasing as a map from (E, <) to (E x¢ F, <2).

Combining these, we conclude that the composition p; loplo Py s increas-
ing as a map from (G, <1) to (E x¢ F,<5). In other words, a1 is increasing as
a map from (G, <1) to (E x4 F, <;) (sincea™ = p; 1o lop, ).

17Proof. We know that the inverse p, ' of the bijection p, : E Xy F — F is given by p, =

(¢p71,id). Thus, _a_ o (¢7id) =yoprop," = ¢, ged.
=Yopa T T =id
=Pz
18Proof. We know that the inverse pfl of the bijection p; : F Xy G — G is given by pfl = (id, ).
Thus, (id, )0 ¢ = p;'opiof =B, ged.
—— N———

:pl_l =p10B =id
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6.4. Page 9, §3.1: descent compositions vs. descent sets

On page 9, you define the descent composition of a permutation ¢ € S, in
terms of its ascending runs. Let me give an alternative description of descent
compositions:

Proposition 6.6. For every composition & = (aq,ap,...,ay), we denote the
number aq + a + - - - + ay by |a| and call it the size of the composition &, and
we say that « is a composition of |«].

For every composition & = (a1, a, ..., &), define a set D («) by

D (a) = {ay, 01 + a2, a1 + a2 +a3,..., 01 +ap+ - +ap_q} (8)
={og+a+---+a, | pef{1,2,...,0—-1}}. 9)

(Here, the set {1,2,...,4} is to be understood as the empty set whenever
g < 1. In particular, {1,2,...,0 — 1} = @. Thus, if « is the empty composition
(), then D (a) = 2.)

(a) For every composition & = (aq,ap,...,ay), we have

D(x) C{1,2,...,|a| -1}, (10)

|D («)| = max{¢—1,0} (11)

and

(w1, 00 + a2, 00 + a2 + a3, ..., 00 + a2+ +apq)
= (the increasing list of D («)). (12)

(Here, if S is any finite set of integers, then the increasing list of S is defined
to be the list of all elements of S in increasing order (with each element of S
appearing precisely once). This list is uniquely determined.)

(b) For every n € IN and every subset I of {1,2,...,n — 1}, there exists a
unique composition « of n such that D (a) = I.

(c) Let n € IN. Let 0 € S;, be a permutation. Let Des ¢ denote the subset

ie{1,2,...n—1} | o(i)>0c(i+1)}

of {1,2,...,n —1}. Proposition [6.6] (b) (applied to I = Des0) yields that there
exists a unique composition a of n such that D («) = Desc. Consider this «.
Then, « = C (o).

Proof of Proposition 6.6} (a) Let & = (ay,a2,...,a;). Then, aq, ay, ..., &y are posi-
tive integers (since « is a composition). Now, every p € {1,2, o b= 1} satisfies

21



Errata to “... Double Partially Ordered Sets” February 2, 2025

wp+ap+ - +ap€{1,2,...,|a| -1} HHence,
{ar+ar+--+ap, | pe{l,2,...,0—-1}} C{1,2,..., |a| —1}.
Thus, (9) becomes
D(a)={ar+ar+---+a, | pe{l,2,...,0—-1}} C{1,2,...,|a| = 1}.

This proves (10).
Next, let us prove ([12). Indeed, every i € {1,2,...,¢ — 2} satisfies a; + ap +

ety <agp ot g mlnotherwords,
< aptay<art+aptaz <o <@xpt+ap+ccF+apq.

Thus, the list (a1, 01 +ap, 07 + a2 + a3, ..., a1 +ap + - - - + ay_q) is strictly increas-
ing. Hence, all entries of this list are pairwise distinct.

But D () = {ag, 01 +ap, 09 +ax+a3,...,a1+ar+---+ay_1}. Therefore,
the list (aq, 1 +ap, 01 +ap +a3,..., 00 +ap + - - - +a,_q) is a list of all elements
of D («). Thus, this list is a list of all elements of D («) in increasing order (since
it is strictly increasing). Moreover, each element of D («) appears precisely once
in this list (since each element of D («x) must appear at least once in this list
(because this list is a list of all elements of D («)) and must appear at most once
in this list (since all entries of this list are pairwise distinct)). Hence, the list
(aq, 00 +ap, 00 +ap+a3,...,00 +ap+---+ap_q) is the list of all elements of
D («) in increasing order (with each element of D («) appearing precisely once).
In other words, the list (ay, a1 +ap, 01 +ap +a3,..., 01 +ap + -+ - +ap_q) is the
increasing list of D («) (since the increasing list of D («) is the list of all elements

YPproof. Let p € {1,2,...,{ —1}. Then,p>1land p</¢—1,sothatp >1>0and {— p >
~—
<l-1<t

{—+¢=0. Now, a1, ap, ..., ap are positive integers (since &y, ap, ..., &y are positive integers).
Thus, a1 +ap + -+ + ap is a nonempty sum of positive integers (in fact, it is nonempty
because the number of its addends is p > 0), and thus a positive integer. Also, a1, @p42, .-,
oy are positive integers (since aq, ay, ..., a; are positive integers). Thus, ap 1 +api2+- - +ay
is a nonempty sum of positive integers (in fact, it is nonempty because the number of its
addends is £ — p > 0), and thus a positive integer. Hence, a1 +api2 + - +ay > 0.

Now, the definition of || yields

ol =g +ap+ - Fap= (v +ar+-Fap) + (ap1 +ap+-F+ag) >ar+ar+--+ap,

>0

Hence, a1 +a + - +ap < |a]. Since aj 4+ ap + --- + &y is a positive integer, this shows
that a1 + ap + -+ + &y is a positive integer smaller than |a|. Thus, a; +ar +--- +ap €
{1,2,...,|a] — 1}, qed.

20Proof. Leti € {1,2,...,£ —2}. Then, a;;1 is a positive integer (since a1, ay, ..., a; are positive
integers), so that aj; 1 > 0. Now, a3 +ap +---+a;11 = (a1 +ap+--- +a;) +@ > a1+

>0
ay + - - -+ a;. In other words, &y +ap + -+ +a; < ay +ap+ - +a;41, qed.
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of D («) in increasing order (with each element of D («) appearing precisely
once) (due to the definition of “increasing list”)). This proves (12).
It is known that every finite subset S of Z satisfies

|S| = (the length of the increasing list of S).

Applying this to S = D (a), we obtain

|D (a)| = | the length of  the increasing list of D («)

>
=(q, 001 +ao,00 +ap+agz,... 00 +ao++ap_q)

(by ([12))
= (the length of the list (aq, a1 +ap, 01 + a2 +a3,..., 00 +a+---+ap_1))
=1{1,2,...,{ —1}| =max{¢{—1,0}.

This proves (11). Thus, Proposition [6.6] (a) is proven.

(b) Let n € IN. Let I be a subset of {1,2,...,n—1}.

If n = 0, then Proposition |6.6| (b) is easy to prove™'| Hence, for the rest of this
proof, we can WLOG assume that we don’t have n = 0. Assume this.

We have n # 0 (since we don’t have n = 0) and thus n > 0 (since n € IN).

Let (i1,i,...,ix) be the increasing list of the set I. Then, (i1,1y,...,i) is the
list of all elements of I in increasing order (with each element of I appearing
precisely once) (according to the definition of the “increasing list”). As a conse-
quence, we have [ = {i1,ip,...,ix} and i} < iy < --- < iy. Let us extend this list
(i1,1p,...,i;) to a list (o, i1,12, ..., ik, ixr1) by defining two additional elements i
and ix,q by ip = 0 and ix,q = n. Notice that ip < i1 < ip < -+ < i < igyq
@ Thus, i, 1 < ip for every p € {1,2,...,k+1}. In other words, i, — ip1>0

21Proof. Assume that n = 0. Then, I C {1,2,...,n—1} = &, so that I = @. Now, there exists
a composition « of 0 such that D (x) = @ (namely, « = ()). Also, there exists at most one
composition a of 0 such that D (x) = @ (in fact, there exists at most one composition & of
0 (namely, ())). Hence, there exists a unique composition « of 0 such that D () = & (since
there exists a composition « of 0 such that D («) = @). In other words, there exists a unique
composition a of n such that D (a) = I (since n = 0 and [ = ©). In other words, Proposition

(b) is proven.

22Proof. Let us first assume that k # 0. Then, k > 1 (since k € IN), and thus the integers i; and i
are well-defined. Now, i1 € {iy,ip,...,ix} =1 C {1,2,...,n—1}, so that i > 1 and thus i; >
0. Hence, iy = 0 < #y. Furthermore, k > 1, so that iy € {i1,ip,..., ik} =1 C{1,2,...,n—1},
thus iy <n—1<n=ixq.

Combining ip < 7 with iy < iy < -+ < i, we obtain iy < i} < ip < --+ < iy. Combining
this with 7 < ix 1, we obtain ip < iy <ip < -+ < < igiq.

Let us now forget that we assumed that k # 0. We thus have proven ip < iy <ip < -+ <
ir < igs+1 under the assumption that k # 0. Thus, for the rest of this proof, we can WLOG
assume that we don’t have k # 0.

We have k = 0 (since we don’t have k # 0). Thus, iy, = igy1 = i1, so that i = i, =n >
0 = ip, so that iy < i;. This rewrites as ip < iy < ip < -+ < iy < ixyq (since k = 0). Thus,
ig < iy <ip < --- <y <igyq is proven.
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for every p € {1,2,...,k+1}. Hence, i, —i, 1 is a positive integer for every
p€{1,2,...,k+1}. In other words, i; — iy, iy — i1, ..., ixy1 — i) are positive in-
tegers. Hence, (iy — i, ip —11,...,ik11 — i) iS @ composition. Let us denote this
composition by 7. We then have T = (i1 —ip,ip —i1,...,iks1 — ix), so that T is
a composition of n Moreover, D (1) = I Hence, 7 is a composition

2Proof. From T = (i — ig,ip — i1,...,ix11 — ix), we obtain

k+1
[Tl = |(iy —do,i2 — i1, - iggr — i) | = (i1 —d0) 4+ (i —i1) + -+ - + (g1 — i) = Y, (ip —ip—1)
p=1
k41 k+1 k+1 k
=Y ip— Y ip1= Y iy — Y ip
p=1 p=1 p=1 p=0
S~ ~—~—
k k
=Y ipti =g+ L ip
p=1 p=1

(here, we have substituted p for p — 1 in the second sum)
k k
= Z Ip+ilp1 | — | o+ Z Ip| =1 — 1o =1l =N

Thus, T is a composition of 1, qed.
24Proof. Every p € {1,2,...,k} satisfies

(i1 —io) + (ia —i1) 4 -+ - + (ip — ip_1)

p . . p . p . p . p71 .
= (ig—ig—1) = Y ig— Y ig-1= Y ig — ) ig
g=1 g=1 q=1 q=1 q=0
N~ ——
p-1 p-1
=Y igtipy =igt ¥ ig
q=1 q=1

(here, we substituted g for 4 — 1 in the second sum)
p-1 p-1
= Ziq+ip>+<i0+2iq>:ip— iy = ip. (13)
<q1 7=1 \:6'/

Now, from @I) (applied to T, k+ 1 and (iy —ip,ip —i1,...,ikr1 — i) instead of &, ¢ and
(w1, a2,...,17)), we obtain

D(t) =1 (ih—io)+(p—ir)+-+ (ip—ip-1) | pESL2..., (k+1)—1
———
=k

= (il—i0>+(i2—i1)+"'+(ip—ip_l) | p€{1,2,...,k}
=i,
(by (13))

:{ip | pE{1,2,...,]{}}I{il,iz,...,ik}zl,

ged.
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of n satisfying D (t) = I. In other words, T is a composition « of n such that
D(a) =1

On the other hand, there exists at most one composition « of n such that
D(a) =L @ Since we know that such an « exists (namely, T), we can thus

2 Proof. Let f and <y be two compositions « of 1 such that D (a) = I. We shall show that 8 = 1.
We know that B is a composition « of 1 such that D («) = I. In other words, B is a compo-
sition of n and satisfies D (B) = I. Let us write the composition 8 in the form (B4, B2, ..., B¢)-
Then, |B| = n (since B is a composition of n). Since || = B1 + B2+ --- + B¢ (by the defi-
nition of |B|), this rewrites as 1 + B+ -+ By =n. If £ =0, then 1 +Bo+---+ B¢ =
(empty sum) = 0, which contradicts B1 + > +--- + B, = n # 0. Hence, we cannot have

¢ = 0. Thus, £ > 0 (since £ € IN).
The equality (applied to § and (B1, B2, .- -, B¢) instead of & and (a1, az, ..., ay)) yields

(B, B1+ B2 Br+B2+Bs . Br+Pat+ -+ Pr1)

= | the increasing list of D (B) | = (the increasing list of I)
——"
=1
= (i1, 0, ..., 1) (since (iy,ip,...,i) is the increasing list of I).

Hence,

\0,_//31,& + B2, B1+ B2+ B3 PPt F P, PPt By
:i(] :(1'1,1'2,.‘.,ik) :n:ik+1

= (io,i1,12, - -+, ix, igp1) - (14)

Therefore,

the length of the list (0,81, 81+ B2, 1+ B2+ B3, ---, B+ P2+ +Br_1,P1+ B2+ +Be)

=(l0,i1,i2-sigsik11)
= (the length of the list (io, 11,12, ..., i ik+1)) = k+2,

so that

k+2
= (the length of the list (0,81, 81+ B2, 1+ B2+ PB3,---,p1+ B2+ +Pr1,P1+B2+---+B¢)
=/(+1

and therefore k = ¢ — 1. Now, yields
Br+Ba+-+Bp=1ip for every p € {0,1,...,0}. (15)

Now, let us fix p € {1,2,...,¢}. Then, yields By + B2 +--- + Bp = ip. Mean-
while, (applied to p — 1 instead of p) yields B + B2+ -+ Bp-1 = ip_1. Now,
(Bi+Bat---+PBp)— (B1+Pa+--+PBp1) =ip—ip1,so that

=iy =iy

ip—ip1=(P1tPat-+Bp) = (Br+pPat - +Bp1) =Pp
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conclude that there exists a unique composition a of n such that D («) = I. This
proves Proposition 6.6 (b).

(c) We know that « is the unique composition of #n such that D (#) = Deso.
Thus, « is a composition of n and satisfies D («) = Deso.

Let us write the composition « in the form a = (a1, ap,...,ay). Then, |a| =
|(a1,00,...,00)| =1 +ap+---+ay, sothat oy +ap+ - - +ay = |a| = n (since
« is a composition of n).

From (12)), we obtain

(q, 00 +ap, 00 +ap+as3,...,00+ap+ - +ap_q)

= | the increasing list of D («) | = (the increasing list of Desoc).
——

=Des o

Let us first prove that the word ¢ = (¢ (1),0(2),...,0 (n)) can be split into ¢
consecutive ascending runs of lengths a7y, ay, ..., ay.

Forevery p € {0,1,...,¢}, leti, denote the nonnegative integer ay +ap + - - - +
tp. Then, the definition of i yields iy = a1 +ap + - - - + &g = (empty sum) = 0.
Also, the definition of iy yields iy = a1 +ap+ - - - +ay = n. Every p € {1,2,..., ¢}
satisfies

ip—ip 1= ap. (16)

@Moreover, g <ip <--- <y E

Thus, By =ip — ip_l.
Let us now forget that we fixed p. We thus have shown that g, = i, —i, 1 for every
pe{l,2,...,¢}. Thus,

(,Bl/ﬁzl"'/ﬁf) == (11 _Zo,iz - il,...,iﬁ _iffl) == il - io,lz _il/"'/ikJrl _i(k_;’_l)_l
N’
=iy

(since £ =k +1 (since k = £ — 1))

= (iy —dg,ip —11,...,0kp1 — i) =T,

so that 8 = (B1,B2,.--,B¢) = T.

We thus have shown that f = 7. The same argument (but applied to  instead of ) shows
that v = 7. Thus, = 7.

Let us now forget that we fixed p and . We thus have shown that if f and < are two
compositions « of n such that D (a) = I, then B = . In other words, there exists at most one
composition a of n such that D («) = I. This completes the proof.

26 Proof of : Let p € {1,2,...,(}. Then, the definition of i), yields i, = a1 + a2 + - -- +a,. But
the definition of i, 7 yields i, 1 = a3 + a2 + -+ a,_1. Hence,

ip—ipo1= (1 +a+-4ap) — (a1 +ag+-+ap1) =ap,

This proves .
27P1’oof. Let p € {1,2,...,¢}. Then, Xp is a positive integer (since ay, a2, ..., a; are positive
integers (since (a1, a2,...,ay) is a composition)). Now, yields ip —i, 1 = ap > 0 (since
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But for every g € {1,2,...,¢}, the list (¢ (i;—1 +1),0 (ig—1+2),...,0 (ig)) is
strictly increasinﬂ Thus, for every g € {1,2,...,(}, the list

(0 (ig-1+1),0 (ig—1+2),...,0 (ig)) is an ascending run of the word o. This

ap is a positive integer). In other words, i, 1 <i).
Let us now forget that we fixed p. We thus have proven that i, | < i, for every p €
{1,2,...,¢}. In other words, iy < i < --- < iy, qed.
2Proof. Let g € {1,2,...,0}. Since g < ¢ and iy < iy < --- < iy, we have i; < i; = n. Because of
this, and because of ig—1+1 > 1, it is clear that each of the integers g1+l ip1+2...,10

~—
>0

belongs to {1,2,...,n}. Hence, the list (¢ (iz—1 +1),0 (iz—1+2),...,0 (ig)) is well-defined.
Now, let ¢ € {1,2,...,i5—i;_1—1}. We shall now show that o (i;_1+g) <
7 (ig-1+ (g +1)).
Indeed, assume the contrary. Then, ¢ (i;—1+g) > 0 (ip_1+(g+1)). Leth =iy 1 +g.
Then,

ol n =0 (igo1+8) >0 (ip1+(g+1) =0 itl+g+1 =o(h+1).
:iq—1+g =h

Moreover, recall that ¢ € {1,2,...,i; —i;_1 —1}. Thus, ¢ > 1and g < i; —i;_1 — 1. Com-
bining h =ig 1+ § > i1 +1>1withh =i, 1+ ¢ Sdgy+ (g —ig-1—1) =
~~ ~—~— ~~

>1 >0 <ig—ig_1—1
ig, —1<n—-1,weobtainl<h<n-1,sothathec{1,2,...,n—1}.
~—
<n

The map ¢ is a permutation, thus bijective, thus injective. Hence, o (1) # ¢ (v) for any two
distinct elements u and v of {1,2,...,n}. Applying this to u = h and v = h + 1, we obtain
o(h) # o (h+1). Combined with ¢ (h) > ¢ (h+1), we obtain o (h) > o (h+1). Now, we
know that & is an element of {1,2,...,n — 1} satisfying o (h) > ¢ (h + 1). In other words,

he{ie{1,2,....n—1} | c(i) >c(i+1)} =Desc
since Desoc={i€ {1,2,...,n—1} | o (i) >0 (i+1)}
(by the definition of Des o)
=D(a)={m+ar+---+a, | pe{L,2,...,0-1}} (by ©@))-

In other words, there exists some p € {1,2,...,{ —1} such that h = ay +ap +--- +ap. Let
us consider this p.

The definition of i) yields i) = ay + a2 + -+ +ap =h (since h = a; +az + - - +ap).

Now, let us assume (for the sake of contradiction) that p < g — 1. Then, i), < i, 1 (since
ip < i3 < -+ <iy); but this contradicts i, = h > i;_1 +1 > i;_1. This contradiction shows
that our assumption (that p < g — 1) was wrong. Hence, we cannot have p < g — 1. We thus
must have p > g — 1. Since p and g — 1 are integers, this yields p > (4 —1) +1 = g. Thus,
qg < p,so’fhatz]7 < ip (since ip < i1 < -+ < ig),sothatiq < ip =h< iq—l < iq. But this
is absurd. This contradiction shows that our assumption was wrong. Hence, ¢ (i;_1 + g) <
0 (ig—1 + (g +1)) is proven.

Let us now forget that we fixed g. Thus we have proven that o (i;_1+g) <
0 (ig-1+(g+1)) for every ¢ € {1,2,...,i;—i;1—1}. In other words, the list
(0 (ig—1+1),0(ig—1+2),...,0 (ig)) is strictly increasing. Qed.
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ascending run has length «, Hence, for every g € {1,2,...,¢}, the list
(0 (ig—1+1),0(ig—1+2),...,0 (ig)) is an ascending run of the word ¢ having
length a,. Thus, for g ranging over the set {1,2,...,/}, these lists

(0 (ig—1+1),0 (ig—1+2),...,0 (ig)) are £ ascending runs of the word ¢ having
lengths aq, ay, ..., ay. These ¢ ascending runs are clearly consecutive, and cover
the whole word ¢ (since iy = 0 and iy = n). Hence, the word ¢ can be split into ¢
consecutive ascending runs of lengths a1, ay, ..., ay (namely, into the ascending
runs (¢ (ig—1+1),0 (ig—1+2),...,0(ig)) for g € {1,2,...,£}). In particular,
the word ¢ has ¢ consecutive ascending runs of lengths a1, ay, ..., ay.

Let now (cy,¢,...,cx) be any composition of n such that the word ¢ has k
consecutive ascending runs of lengths ¢, ¢, ..., ¢, and such that k < /. We
shall prove that (c1,¢,...,cx) = a.

This is obvious if n = 0 Hence, for the rest of the proof of (c1,c¢,...,cx) =
n, we can WLOG assume that we don’t have n = 0. Assume this. We have n > 1
(since n € IN and since we don’t have n = 0). Hence, ¢ > 1 and k > 1
Thus, / —1>0(since / > 1)and k—1 >0 (and k > 1).

We know that (c1,¢,...,ck) is a composition of n. Thus, |(c1,¢2,...,ck)| = n,
sothatn = |(c1,¢2,...,ck)| =c14+ 2+ + ¢k

The word ¢ has k consecutive ascending runs of lengths cj, ¢z, ..., ¢. In
other words, there exist k + 1 elements jo, ji, ..., jx of {0,1,...,n} satisfying the
following properties:

e Wehave jp <j; <+ <ji.

e For every q € {1,2,...,k}, the list (0 (j,—1 + 1),0 (jg=1+2),...,0(jg)) is
an ascending run of ¢ having length c;.

Proof. Fix q € {1,2,...,£}. We need to show that the list (c (g1 +1),0 (ig-1+2),...,0(i5))

has length a;.
But we have i; 1 < i (since ip < 7 < - < ). Thus, the list

(0 (ig-1+1),0(ig1+2),...,0 (ig)) has length iy — iy 1 = &y (by (16), applied to p = g).
This completes our proof.

30Proof. Assume that n = 0. Then, (c1,c,...,ck) is a composition of n. In other words,
(c1,¢2,...,¢x) is a composition of 0 (since n = 0). Hence, (c1,¢c2,...,c) = & (since @ is
the only composition of 0). On the other hand, « is a composition of n. In other words, « is
a composition of 0 (since n = 0). Hence, « = @ (since @ is the only composition of 0). Thus,
(c1,¢2,...,¢k) =D = a, ged.

31Proof. We have iy = n > 1 > 0 = i, so that iy # ip and thus ¢ # 0. Since ¢ € N, this yields
¢>1,qed.

32Proof. Assume the contrary. Then, k < 1. Since k € IN, this shows that k = 0. Hence,

|(c1,¢2,..,¢k)] = |(c1,¢2,...,¢c0)| = |@| = 0. Compared with |(c1,¢2,...,c¢)| = n (since
N—
=0=2
(c1,¢2,...,¢k) is a composition of n), this yields n = 0, so that 0 = n > 1. But this is absurd.
This contradiction shows that our assumption was wrong, qed.
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Consider these elements jo, i, . - ., jk- @ It is easy to see that
Cqg = Jg — Jg—1 for every g € {1,2,...,k}. (17)
P41t is now easy to see that (jo = 0 and jx = n) [°] Furthermore,

Deso C {j1,j2, -+, jk-1} (19)

%l But [Desc| = |D(a)] = max{f—1,0} (by (11)). But £—1 > 0 and
=D(a)
thus max{¢—1,0} = ¢ —1. Hence, |Desc| = max{¢/—1,0} = ¢ —1. But

3Visually speaking, these elements jo, ji, - . ., jx are the borders of the k ascending runs.

34 Proof of (17): Let g € {1,2,...,k}. Then, one of the two above properties of the elements
jor ji, - Jx shows that the list (¢ (jy—1 +1),0 (jg-1+2) .., (j)) is an ascending run of
o having length ¢;. Hence, this list (0 (jo—1 +1),0 (jg—1+2),...,0 (js)) has length ¢;. In
other words,

(the length of the list (¢ (jy—1 +1),0 (jg—1+2),---.7 (j5))) = ¢5- (18)

But jq—l < jg (since jo < ;1 < o < i) Hence, the list
(0 (jg-1+1),0 (jg—1+2),...,0(j;)) has length j; — j,_1. In other words,

(the length of the list (0 (jy—1+1),0 (jg-1+2),---,0 (jg))) = Jg — ja-1.

Compared with (18), this yields ¢; = j; — j;—1. This proves (7).

35P1’oof. We know that jo, j1, ..., jx are elements of {0,1,...,n}. In particular, jo and ji are
elements of {0,1,...,n}. Since ji is an element of {0,1,...,n}, we have ji < n, so that n > jj.
Combined with

k k k k
n=ctotocta=Y, & =) (i—j1) = Yjs— Lig
g=1_ >~ g=1 =1 q=1
=Jqg—Jg-1
(by (17))
k k-1
= Y i - Yi (here, we substituted q for 4 — 1 in the second sum)
=1 =0
o
k=1 k-1
=Y jotik  =jhot X Jjg
q=1 q=1
k-1 k-1
=\ Lda+ic) = o+ Lja) =ik~ jo < jiv
q=1 q=1 ~—~

>0
(since joe{0,1,...,n})

this yields n = ji. Thus, jy = n. Now, n = ji —jo = n — jo, so that 0 = —jp and thus jo = 0.
~~
=n
Hence, (jo = 0 and j; = n), ged.
36Proof of (19): Let h € Desc. Then,
heDeso={iec{l,2,....n—1} | c(i)>0c(i+1)}

(by the definition of Des¢). In other words, & is an element of {1,2,...,n—1} and satisfies
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{j1,j2, - jk1}| < k—1(since jy, jo, ..., jx_1 are k — 1 integers (since k — 1 > 0)).
Now,
Deso| = £ —1=2k—=12=[{jijo - jk-1}|
>k
(since k</)

(since [{j1,j2,---,jk—1}] < k—1). But it is clear that if S is a finite set, and if T
is a subset of S satisfying |T| > |S|, then we must have T = S. Applying this to
S=A{j1,j2,---,jx—1} and T = Des o, we obtain

Deso = {j1,j2/- -+, jk-1} (21)

(since Deso C {j1,j2,...,jx—1} and |Desc| > [{j1, /2, -, Jk—1}])-

o(h)>oc(h+1).

We have h € {1,2,...,n—1},sothat1 < h <n—1 Now, h <n—1< n = j (since
jk = n). Thus, there exists at least one g € {0,1,...,k} satisfying h < j; (namely, g = k).
Hence, there exists the smallest g € {0,1,...,k} satisfying i < j;. Let us denote this smallest
q by r. Thus, r is an element g € {0,1, ..., k} satisfying /i < j,. In other words, r is an element
of {0,1,...,k} satisfying h < j,. We have jo =0 <1 < h < j,, so that jy # j, and thus 0 # r.
Hence, r # 0. Since r € {0,1,...,k} and r # 0, we have r € {0,1,...,k} \ {0} = {1,2,...,k}.
Thus,r—1€{0,1,...,k—1} C{0,1,...,k}.

But

every q € {0,1,...,k} satisfying h < j, must satisfy g > r (20)

(because 7 is the smallest g € {0,1,...,k} satisfying i < jj).

Let us assume (for the sake of contradiction) that & < j,_1. Then, (appliedtog =r—1)
yields r —1 > r (since r —1 € {0,1,...,k}). But this is absurd. This contradiction shows
that our assumption (that & < j,_1) is false. Thus, we do not have 1 < j,_1. Hence, we have
h > j,_1. Thus, h > j,_1 +1 (since h and j,_1 are integers), so that h — j,_q > 1.

Let us assume (for the sake of contradiction) that & # j,. Combined with /1 < j,, this yields
h < jr. Thus, h < j, — 1 (since h and j, are integers), so that \h// —Jj1 < jr—1—j1 =

<jr—1
jr — jr—1 — 1. Combined with h — j,_; > 1, this yields 1 < h —j,_1 < j» — j,—1 — 1, so that
h _jr—l € {1,2,. . .,jr _jr—l — 1}.

But recall that, for every q € {1,2,...,k}, the list (¢ (jg—1+1),0 (jg—1+2),...,7 (jy))
is an ascending run of ¢ having length c;. Applying this to g = r, we conclude that
the list (o (j,—1+1),0 (jr—1+2),...,0(jr)) is an ascending run of ¢ having length c,. In
particular, this list is an ascending run, and therefore increasing. In other words, ev-
ery g € {1,2,...,jy — j,—1 — 1} satisfies ¢ (j—1 +8) < 0 (jr—1+ (g+1)). Applying this to
g = h —j,_1, we obtain

U(jr—l + (h —jr_l)) < ‘T(jr—l + ((h _jr—l) + 1))

(since h —j,1 € {1,2,...,jy—jr-1—1}). Since j,1 + (h—j,—1) = h and 1 +
((h—=j,—1)+1) = h+1, this rewrites as ¢ (h) < ¢ (h+1). This contradicts o (h) > o (h+1).

This contradiction shows that our assumption (that & # j,) was wrong. Hence, we
must have i = j,. Thus, j, = h < ji, so that j, # j; and thus r # k. Combin-
ing this with r € {1,2,...,k}, we obtain r € {1,2,...,k} \ {k} = {1,2,...,k—1}. Now,
h=j,€{j1,j2 - jx_1} (sincer € {1,2,...,k—1}).

Now, let us forget that we fixed h. We thus have shown that every i € Desc satisfies
h € {ji,j2 ..., jk—1}- In other words, Desc C {j1,j2,...,jk—1}. This proves .

30



Errata to “... Double Partially Ordered Sets” February 2, 2025

On the other hand, D ((c1,¢2,-..,¢k)) = {j1,j2,---,jk1} [} Compared with
(1), this yields D ((c1,¢ca,...,¢)) = Deso.

Now, recall that & was defined as the unique composition of n such that
D («) = Desc. In other words, a is the unique composition  of n such that
D (B) = Deso. The “uniqueness” part of this statement shows that every com-
position B of n such that D () = Desc must satisfy p = a. Applying this to
B = (c1,¢2,...,cx), we obtain (c1,¢,...,cx) = a (since (c1,¢,...,cx) is a compo-
sition of n and satisfies D ((c1,¢2,...,¢k)) = Deso). Thus, (c1,¢2,...,¢¢) = a is
proven.

Now, let us forget that we fixed (cy,c¢,...,cx). We thus have shown the fol-
lowing fact:

Fact A: If (cq,¢p,...,¢ck) is any composition of n such that the word o
has k consecutive ascending runs of lengths ¢y, ¢, ..., ¢k, and such
that k < ¢, then (c1,¢2,...,¢c¢) = a.

We also know that & = (a1, a2,...,a/) is a composition of n with the property
that the word ¢ has ¢ consecutive ascending runs of lengths «aq, ap, ..., ay. In
other words, a is a composition (c¢1,¢cy,...,cx) of n such that the word ¢ has k
consecutive ascending runs of lengths ¢y, ¢, ..., cx. Moreover, among all such
compositions (c1,¢cy,...,ck), the composition « is the one with the minimum k
(because of Fact A, and since a has k = ¢). In other words, we have proven the
following fact:

37Proof. For every p € {1,2,...,k — 1}, we have

p

p P 14
c1+ce+ +Cp22 Cq _Z(]'q*]'q—l):zjqujﬂ—l
g=1 g=1

:1 g=1
]
<»
p
= Y - Y (here, we substituted g for g — 1 in the second sum)
q=1 =
~—— ~——
p-l p-1

=Y jgtip =t L g
q=1 q=1

p—1 p—1
Jatip ) —\jo+ dia| =Jp— Jo =Jp (22)
<q—21q ”) ( Elq> ot

Now, applying @ to (c1,¢2,...,¢), k and ¢; instead of «, ¢ and «;, we obtain

D((Cl,C2,...,Ck)> =qca+ct--+op ‘ pE {1,2,...,k—1}

oy @)

={p | pe{r2... k=1}} ={jLj - js1}-
This proves (21).
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Fact B: Among all compositions (cy, ¢, . .., k) of n such that the word
o has k consecutive ascending runs of lengths cy, ¢y, ..., ¢k, the com-
position « is the one with the minimum k.

Recall the definition of C (¢). This definition says that, among all compositions
(c1,c2,...,¢cr) of n such that the word ¢ has k consecutive ascending runs of
lengths c1, ¢3, ..., ¢, the composition C () is the one with the minimum k.
Comparing this description of C (¢) with the description of « given in Fact B,
we obtain that « = C (). This proves Proposition [6.6| (c). O

6.5. Page 9, Corollary 3.3: a proof

For the sake of completeness, let me give a proof of Corollary 3.3 using [GriReil5,
Theorem 5.2.11]. But first, let me recall your definition of the notion of a 7-
partition:

Definition 6.7. Let 7 = (E, <j,<2) be a double poset. Let X be a totally
ordered set. A mr-partition into X means a map x : E — X such that any two
elements e and ¢’ of E satisfy

(e <1 ¢ implies x (e) < x (6/))

and

(e <1 ¢ and e >, ¢’ implies x (¢) < x (¢')) .

Proof of Corollary 3.3. Let 7 be a special double poset. We shall show that
[(m)=(FolL)(m).

We use the definition of QSym given in [GriReil5, Definition 5.1.5] (where it
is denoted by QSym). The definition of I' (77) then rewrites as follows:

F(TC) = Z fo(e)' (23)

f is a m-partition e€E
into {1,2,3,...}

Write 77 in the form © = (E, <1,<32). Then, <5 is a total order (since 7t is
special). Hence, we can WLOG assume that E = {1,2,...,n} for some n € N,
and that the second order <, of 7t is the natural order on {1,2,...,n} (since we
can achieve this by relabelling the elements of E). Assume this. Then, (E, <1)
becomes a labelled poset in the sense of [GriReil5| Definition 5.2.1] (since E C
Z). Also, <3 is the natural order on {1,2,...,n}. In other words, < is the
restriction of <z to E (where <y is the natural order on Z). Thus, >, is the
restriction of >y to E.

We recall the definition of a P-partition (for P being a labelled poset) given in
[GriReil5|, Definition 5.2.1]. It is easy to see that the (E, <i)-partitions are the
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same as the 7r-partitions into {1,2,3,...} ¥ But now recall the definition of

38Proof. Let x be a 7t-partition into {1,2,3,...}. By the definition of a 7r-partition, we then know
that x is a map E — {1,2,3,...} such that any two elements e and ¢’ of E satisfy

(e <1 ¢ implies x () < x (¢')) (24)

and
(e <1 ¢ and e >, ¢ implies x (¢) < x (¢')) (25)

(since x is a 7r-partition). Thus, any two elements e and ¢’ of E satisfy
(e <1 ¢ and e >z ¢ implies x (¢) < x (¢')) . (26)

(Proof of (26): Let e and ¢’ be two elements of E. Assume that ¢ <; ¢/ and e >z ¢/. We have
e >z ¢'. In other words, e >; ¢’ (since >5 is the restriction of > to E). Thus, shows that
x (e) < x (¢’). This proves (26).)

Now, if i and j are two elements of E, then
(i <1 jand i <z j implies x (i) < x (j)) (27)
(according to (24), applied to ¢ = i and ¢’ = j) and
(i <1 jand i >z jimplies x (i) < x (j)) (28)

(according to , applied to e = i and ¢’ = j). In other words, x is an (E, <7 )-partition (due
to the definition of an (E, <1)-partition).

Now, let us forget that we fixed x. We thus have shown that if x is a 7r-partition into
{1,2,3,...}, then x is an (E, < )-partition. In other words,

every m-partition into {1,2,3,...} is an (E, <;)-partition. (29)

Let now y be an (E, <1)-partition. According to the definition of an (E, <1)-partition, we
thus know that y is a map E — {1,2,3,...} such that any two elements i and j of E satisfy

(i <1 jand i <z j implies y (i) < y (j)) (30)

and
(i <yjand i >z jimplies y (i) <y (j)) (31)

(since y is an (E, <1)-partition).

Now, let e and ¢’ be two elements of E.

Assume that e <; ¢/. We shall now prove that y (¢) < y(¢). If e <z ¢/, then this follows
immediately from (applied to e = i and ¢/ = j). Hence, for the rest of this proof, we
can WLOG assume that we don’t have ¢ <z ¢/. Assume this. We have ¢ >7 ¢’ (since we
don’t have e <z ¢’). But e # ¢’ (since e <7 ¢, and since <; is a partial order). Combined
with e >z ¢/, this yields e >z ¢/. Thus, y(¢) < y (¢/) (by (31)), so that y (¢) < y (¢’). Thus,
y(e) <y (€) is proven.

Let us now forget that we assumed that e <; ¢/. We thus have shown that

(e <1 ¢ implies y (e) <y (¢')). (32)

Now, assume that e <1 ¢’ and e >, ¢/. We have e >5 ¢'. In other words, e > ¢ (since >, is
the restriction of >y to E). But e <; ¢, so that e # ¢’ (since <7 is a partial order). Combined
with e > ¢/, this yields e >z ¢’. Thus, (applied to i = e and j = ¢') yields y (e) <y (¢’).
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Fp (for P being a labelled poset) given in [GriReil5| Definition 5.2.1]. This yields

Feay= Y, X5
feAlE <))

where A ((E, <1)) denotes the set of all (E, <1)-partitions and where x is de-
fined as JT xf(;. Thus,

icE

Fe<) = ). Xf = )3 [ Txr)

feA((E,<1)) ~ f is a (E,<q)-partition icE
| — - :H X (z) N _ .

T ik ! 5 =
- v = > = I %)
fisa (E,<q)-partition [ is a 7-partition (here, if’e renamed
(since A((E,<7)) is the set into {1,2,3,...} the index i as e)

of all (E,<q)-partitions) (since the (E,<1)-partitions are
the same as the rr-partitions
into {1,2,3,...})

= ). [Tx/e =T (n) (by (23)) - (34)

f is a rr-partition e€E
into {1,2,3,...}

Let us now compute F (L (77)).

Recall that you have defined the notion of a “linear extension” of a special
double poset; in particular, this yields the notion of a “linear extension” of 7r. On
the other hand, in [GriReil5), §5.2], the notion of a “linear extension” of a labelled
poset is defined; in particular, this yields the notion of a “linear extension” of
(E, <1). Now, we shall see that these two notions agree: Namely,

the linear extensions of (E, <) are precisely the linear extensions of 7. (35)

P

Let us now forget that we assumed that e <; ¢’ and e >; ¢/. We thus have shown that
(e <1¢ and e >, ¢ implies y (e) <y (¢)) . (33)

Now, let us forget that we fixed ¢ and ¢’. We thus have proven that any two elements e and
¢’ of E satisfy and . In other words, y is a m-partition into {1,2,3,...} (according to
the definition of a 7r-partition).

Let us now forget that we fixed y. We thus have proven that if y is an (E, <q)-partition,
then y is a 7t-partition into {1,2,3,...}. In other words,

every (E, <1)-partition is a rr-partition into {1,2,3,...}.

Combining this with (29), we conclude that the (E, <1)-partitions are the same as the 7-
partitions into {1,2,3,...}. Qed.

39 Proof of : A linear extension of 7t is the same as a total order on the set E which extends the
first order <; of 7t (according to the definition of a “linear extension” of 7). In other words, a
linear extension of 7t is the same as a total order on the set E which extends the partial order
<q. In other words, a linear extension of 7 is the same as a total order on the set E which
extends (E, <1) as a poset.
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You identify linear extensions of 7t with a certain kind of words, and also with
permutations in S,. Similarly, in [GriReil5| §5.2], linear extensions of (E, <1)
are identified with a certain kind of words. It is clear that these identifications
are the same — i.e., if ¢ is a linear extension of 7, then the word with which the
linear extension ¢ of 7t is identified is identical with the word with which the
linear extension ¢ of (E, <1) is identified '] Following [GriReil5, §5.2], we use
the notation £ (P) for the set of all linear extensions of a labelled poset P. Then,
[GriReil5, Theorem 5.2.11] says that Fp(x) = Y. F,(x) for every labelled

weL(P)
poset P. Applying this to P = (E, <1), we obtain

Fg,<)) (x) = Y Fy (x) = Y

Fy (x)

weL((E,<1)) w is a linear
—_——— extension of (E,<1)
f— Z ~"

w is a linear
extension of (E,<1)

(since L((E,<1)) is the set of all

w is a linear
extension of 7
(since the linear extensions

linear extensions of (E,<7))

- ¥

w is a linear
extension of 7t

Now, yields

I'(71) = Fg,<)

of (E,<y) are precisely the
linear extensions of )

Fy (x) .

“Fp (0= L R, (36)

w is a linear
extension of 7T

On the other hand, L () is the sum of all linear extensions of 7t (according to
the definition of L). In other words,

L(my= ), o

o is a linear
extension of 7T

But a linear extension of (E, <i) is the same as a linear order on the set E which extends
(E, <1) as a poset (according to the definition of “linear extension” given in [GriReil5), §5.2]).
Since “linear order” is synonymous for “total order”, this rewrites as follows: A linear exten-
sion of (E, <j) is the same as a total order on the set E which extends (E, <1) as a poset. In
other words, a linear extension of (E, <7) is the same as a linear extension of 7t (since a linear
extension of 7r is the same as a total order on the set E which extends (E, <) as a poset).
In other words, the linear extensions of (E, <1) are precisely the linear extensions of 7r. This
proves (35).
40This is because both of these words are defined in the same way (namely, as the list of all
elements of E in ¢-increasing order).
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Applying the map F to both sides of this equality, we obtain

F(L(m))=F Y, o= ) F (o)

. p . . N
o is a linear o is a linear
extension of 7 extension of 7 =F C(0)

(by the definition of F)

(since F is Z-linear)

= X Fw= X Fow (37)
o is a linear w is a linear
extension of 7t extension of 7w

(here, we renamed the summation index ¢ as w) .

Now, let us fix a linear extension w of 7t. We recall that w is thus identified with
a word and with a permutation in S;,,. Proposition (6.6 (b) (applied to I = Des w)
yields that there exists a unique composition « of n such that D (¢) = Des w.
Consider this . Then, « = C (w) (according to Proposition (c), applied to
o = w). Notice that the fundamental quasisymmetric function F, is denoted by
L, in [GriReil5), §5.2].

Now, in [GriReil5| Proposition 5.2.10], it is shown that F, (x) equals the fun-
damental quasisymmetric function L,. Since F, is denoted by L, in [GriReil5),
§5.2], this result rewrites as follows: F, (x) equals the fundamental quasisym-
metric function Fy. In other words, Fy (x) = Fx = F¢(y) (since & = C (w)).

Let us now forget that we fixed w. We thus have shown that F, (x) = Fc(y)
for every linear extension w of 7. Thus, becomes

Fm= ) FR®&= )  Fw=FLM) (by @7))

w is a linear w is a linear
extension of 1 =Fc(w) extension of 71
— (FoL) ().

Let us now forget that we fixed 7r. We thus have proven thatI' () = (Fo L) (7)
for every special double poset 7r. Thus, (I' |zps) (1) =T () = (FoL) (m) for
every special double poset 77. In other words, the two maps I' |zps and Fo L
are equal to each other on the basis of the Z-module ZDS consisting of the (iso-
morphism classes of) special double posets. Since these two maps I' |zps and
F o L are Z-linear, this shows that these two maps I' |zpg and F o L are identical
(because if two Z-linear maps from the same domain are equal to each other on
a basis of the domain, then these two maps must be identical). In other words,
I' |zps= F o L. This proves Corollary 3.3.

Let me also prove the claim that “the linear function F : ZS — QSym defined
by ¢ — Fc(s) is @ homomorphism of bialgebras”. You refer to “[MR] Th.3.3”,
but as far as I can tell this fact is never explicitly stated in [MR]; it takes some
work to derive it from the results of [MR]. Here is a simple way to derive it from
[GriReil5, Corollary 8.1.14]:

Proof of the fact that the linear function F : ZS — QSym defined by o — Fc () is a
homomorphism of bialgebras: For every n € IN and w € S;, we let v (w) denote the
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unique composition & of n such that D (#) = Desw (where Desw is defined as
in Proposition [6.6| (c)). (This unique composition exists according to Proposition
(b) (applied to ¢ = w and I = Desw).)
Part of [GriReil5, Corollary 8.1.14(a)] (applied to k = Z) states (in the nota-
tions of [GriReil5, §8]) that the Z-linear map
FQSym — QSym,
Fo = Ly(w)
is a Hopf morphism. Translating this into our notations, we obtain the following:
The Z-linear map
ZS — QSym,
w — F’y(w)
is a Hopf morphism@ Renaming the index w as ¢ in this fact, we rewrite it as
follows: The Z-linear map
ZS — QSym,
0 — FPY(U)

is a Hopf morphism. In other words, the Z-linear map

ZS — QSym,
o — FC((T)
is a Hopf morphism (because every n € IN and every o € S, satisfy y (0) = C (0)
. In particular, this map is a homomorphism of bialgebras. This completes

our proof that the linear function F : ZS — QSym defined by ¢ — Fc(,) is a
homomorphism of bialgebras.

6.6. Page 10, Proposition 3.1: properties of standard
permutations
Let me give a self-contained proof of Proposition 3.1.

First, I am going to give a formal definition of the standard permutation of a
word. Let me start with the following simple fact:

41In our translation, we used the following dictionary:
* What is called FQSym in [GriReil5] is what we call ZS.
* What is called QSym in [GriReil5] is what we call QSym.
* What is called F;, in [GriReil5] (for w being a permutation) is what we call w.

* What is called L, in [GriReil5] (for « being a composition) is what we call F,.

#2Proof. Letn € N and o € S,,. Proposition[6.6](c) (applied to & = 7 (¢)) yields that v (¢) = C (¢)
(since 7y (o) is the unique composition a of n such that D (a) = Des o (due to the definition
of v (0))). Qed.
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Proposition 6.8. Let P be a poset. Let w = aja; - - - a, be a word over the poset
P (that is, a finite list of elements of P). We define a binary relation < on the
set {1,2,...,n} as follows: For any i € {1,2,...,n} and j € {1,2,...,n}, we
set i <y jif and only if

(either a; < ajor (a4; =ajand i < j)).

(a) This binary relation <y, is the smaller relation of a partial order on the
set {1,2,...,n}.

(b) Assume that the poset P is totally ordered. Then, the binary relation <,
is the smaller relation of a total order on the set {1,2,...,n}.

Proof of Proposition [6.8] (a) Any two elements p and q of {1,2,...,n} satisfying
p <w q must satisfy
ap < ag. (38)

43 Proof of : Let p and g be two elements of {1,2,...,n} satisfying p < 4.

We have p < q if and only if (either a, < a5 or (a, = agand p < g)) (according to the
definition of the relation <). Hence, we must have (either a, < a, or (a, = a, and p < q))
(since we have p <y g). In other words, we are in one of the following two cases:

Case 1: We have a, < a,.

Case 2: We have (a, = a5 and p < q).

Let us first consider Case 1. In this case, we have a, < a,. Thus, a, < a5. Hence, is
proven in Case 1.

Let us now consider Case 1. In this case, we have (1, = a; and p < q). Thus, a, = a,, so
that a, < a;. Hence, (38) is proven in Case 2.

We have now proven (38) in each of the two Cases 1 and 2. Since these two Cases cover all
possibilities, this yields that always holds. Qed.
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The binary relation <y, is irreﬂexivelﬂ transitivq@ and antisymmetric@ There-
fore, this binary relation <, is the smaller relation of a partial order on the set
{1,2,...,n} (since every irreflexive, transitive and antisymmetric relation on a
set S must be the smaller relation of a partial order on S). This proves Proposi-
tion 6.8 (a).

(b) Proposition 6.8 (a) shows that the binary relation <y, is the smaller relation
of a partial order on the set {1,2,...,n}. In order to prove Proposition 6.§| (b),

#Proof. Let p be an element of {1,2,...,n} such that p < p.

We have p <y, p if and only if (either a, < a, or (a, =ap and p < p)) (according to the
definition of the relation <). Hence, we must have (either a, < a, or (a, =a, and p < p))
(since we have p <y p). Since a, < a, is impossible, we thus have (1, =4, and p < p).
Thus, p < p, which is absurd.

Now, let us forget that we fixed p. We thus have obtained a contradiction for every p €
{1,2,...,n} satisfying p <, p. Hence, there exists no p € {1,2,...,n} satisfying p < p. In
other words, the relation <y, is irreflexive, qed.

45Proof. Let p, g and r be three elements of {1,2,...,n} such that p <, g and g <, 7.

We are going to show that p <y 7.

We have p <y q and thus a, < a, (by ). Also, we have q <4, r and thus a; < a, (by ,
applied to q and r instead of p and ¢). Thus, a, < a; < a,. Hence, either a, = a, or a, < a,.
In other words, we are in one of the following two cases:

Case 1: We have a, = a,.

Case 2: We have a, < ay.

Let us first consider Case 1. In this case, we have a, = a,. Thus, a, = a, < a;. Combined
with a; < a, this yields a, = a,, so that a; = a,.

We have p < q if and only if (either a, < a5 or (2, =a, and p < q)) (according to the
definition of the relation <). Hence, we must have (either a, < a, or (a, =a, and p < q))
(since we have p <y ¢q). Since a, < a, is impossible (because a, = a, = a;), this yields that
we have (a, = a5 and p < q). Hence, p < q.

We have g < r if and only if (either a; < a, or (a; = a, and q <r)) (according to the
definition of the relation <y). Hence, we must have (either a; < a, or (a; =a, and q <))
(since we have g <y 7). Since a; < 4, is impossible (since a4, = a;), this shows that we have
(ag =ayand g <r). Hence, g < r.

Now, a, = a, and p < q < r. Hence, (a,=a,andp<r), and therefore
(either ap < a, or (ap =a, and p <7)).

Now, we have p < r if and only if (either a, <a,or (a, =a,and p <r)) (accord-
ing to the definition of the relation <y). Hence, we must have p < r (since we have
(either ap < a, or (a, = a, and p < r))). Hence, p <y 1 is proven in Case 1.

Let us now consider Case 2. In this case, we have a, < a. Thus,
(either ap < a, or (ap =a, and p <7)).

Now, we have p < r if and only if (eithera, < a, or (a, =a,and p <r)) (accord-
ing to the definition of the relation <y). Hence, we must have p < r (since we have
(either ap < a, or (a, = a, and p < r))). Hence, p <y 7 is proven in Case 2.

Now, we have proven p <y r in each of the two Cases 1 and 2. Since these two Cases cover
all possibilities, we can thus conclude that p <, r always holds.

Now, let us forget that we fixed p, ¢ and r. We thus have shown that if p, g and r are any
three elements of {1,2,...,n} such that p <, g and g < 7, then p <y, r. In other words, the
relation <, is transitive. Qed.

6 Proof. It is known that any irreflexive transitive binary relation is antisymmetric. Thus, the
binary relation <, is antisymmetric (since it is irreflexive and transitive). Qed.
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it is clearly enough to show that this order is total. In other words, it is clearly
enough to prove that if p and g are two distinct elements of {1,2,...,n}, then
either p <y g or g <y p. Let us prove this now.

Let p and g be two distinct elements of {1,2,...,n}. We need to show that
either p <y g or q <y p.

We can WLOG assume that p < g (since our situation is symmetric in p and g,
and thus we can interchange p with g to obtain p < q). Assume this. Combining
p < q with p # g (since p and g are distinct), we obtain p < .

The poset P is totally ordered. Hence, we have either a4, < a, or a, = a, or
ap > a,. In other words, we must be in one of the following three cases:

Case 1: We have a, < a4.

Case 2: We have a, = a,.

Case 3: We have a, > a,.

Let us first consider Case 1. In this case, we have ay < ag. Hence,

(either a, < ay or (a, =a;and p <q)).

Now, we have p <y, g if and only if (either a, < a4 or (1, = a4 and p <))
(according to the definition of the relation <;). Hence, we must have p <y g
(since we have (either a, < a, or (a, = a; and p < q))). Consequently, we have
either p <y g or g <y p. Thus, (either p <y g or g <y p) is proven in Case 1.

Let us now consider Case 2. In this case, we have 4, = a,. Hence, (ap =agand p < q),
so that (either a, < a; or (a, = a5 and p <g)).

Now, we have p <y, g if and only if (either a, < a; or (1, = a4 and p < q))
(according to the definition of the relation <;). Hence, we must have p <y g
(since we have (either a, < a, or (1, = a; and p < q))). Consequently, we have
either p <y g or g <y p. Thus, (either p <y g or g <y p) is proven in Case 2.

Let us finally consider Case 3. In this case, we have a, > a,. Hence, a; < ap,
so that (either a;, < a, or (a; =ap and q < p)).

Now, we have q < p if and only if (either a, < a, or (1, =ap and q < p))
(according to the definition of the relation <;). Hence, we must have g <y p
(since we have (either a; < a, or (1, = a, and g < p))). Consequently, we have
either p <y g or q <y p. Thus, (either p <y g or g <y p) is proven in Case 3.

Thus, (either p <y g or g <y p) is proven in each of the three Cases 1, 2 and 3.
Since these three Cases cover all possibilities, this yields that (either p < g or ¢ <y p)
always holds.

Now, let us forget that we fixed p and q. We thus have shown that if p and
g are any two distinct elements of {1,2,...,n}, then either p <y g or g <y p.
Thus, the binary relation <y is the smaller relation of a total order on the set
{1,2,...,n} (since we already know that the binary relation <, is the smaller
relation of a partial order on the set {1,2,...,n}). This proves Proposition
(b). O

Definition 6.9. Let P be a totally ordered poset. Let w = aja; - - - a, be a word
over the poset P. We define the standardization of the word w as follows:
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Construct a binary relation <y on the set {1,2,...,n} asin Proposition
Then, Proposition (b) shows that this relation is the smaller relation of a to-
tal order on the set {1,2,...,n}. In other words, ({1,2,...,n},<y) is a totally
ordered set. Thus, there is a unique order isomorphism ({1,2,...,n},<y) —
({1,2,...,n},<z). We define the standard permutation of w as this order iso-
morphism, regarded as a permutation of {1,2,...,n}. This standard permu-
tation is also denoted as the standardization of w.

Example 6.10. Let P be a three-element totally ordered poset {x,y,z} with
x <y < z. Let w be the word yzxy over the poset P. Then, the binary relation
<w is the total order given by 3 <, 1 <y 4 <y 2. Hence, the unique order
isomorphism ({1,2,...,n},<y) = ({1,2,...,n},<z) sends 3 to 1, sends 1 to
2, sends 4 to 3, and sends 2 to 4. In other words, this unique order isomor-
phism is the permutation (2,4,1,3) (written in one-line notation). Thus, the
standard permutation of the word w is this permutation (2,4,1,3).

Proposition 6.11. Let P be a totally ordered poset. Let w = ajap---a, be
a word over the poset P. Let s be the standard permutation of w. Let i &
{1,2,...,n}and j € {1,2,...,n}.
(a) We have the following logical equivalence:
(s (i) <s(j)) <= (eithera; <ajor (a; =ajandi < j)).
(b) If i < j, then we have the following logical equivalence:
(s() <s(j) < (@ <a).

(c) If i > j, then we have the following logical equivalence:

(s(i) <s(j) <= (a; <aj).

(d) If s (i) < s(j), then a; < a;.

Proof of Proposition Recall a very basic property of order isomorphisms: If
(U, <y) and (V,<y) are two posets, if f is an order isomorphism (U, <y;) —
(V,<y), and if p and g are two elements of U, then we have the following logical
equivalence:

(p<uq) <= (f(p)<vf@). (39)

(a) Construct a binary relation <, on the set {1,2,...,n} as in Proposition
We recall that the standard permutation of w is the unique order isomor-
phism ({1,2,...,n},<s) — ({1,2,...,n},<z) (indeed, this is how it was de-
fined). In other words, s is the unique order isomorphism ({1,2,...,n}, <) —
({1,2,...,n},<z) (since s is the standard permutation of w). In particular, s
is an order isomorphism ({1,2,...,n},<s) — ({1,2,...,n},<z). Hence, for
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every two elements p and g of {1,2,...,n}, we have the following logical equiv-
alence:

(p <wq) = (s(p) <zs(q))- (40)
(Indeed, this follows from (39), applied to (U, <y) = ({1,2,...,n}, <w), (V,<v) =
({1,2,...,n},<z) and f =5s).
Applying to p =i and g = j, we obtain the logical equivalence
(<) = (5(0) <z5()) = () <5())
since the relation <z on {1,2,...,n}
is a restriction of the relation < onZ /-
Hence, we have the logical equivalence
(s(i) <s(j)) <= (i<w]j) <= (eithera; <ajor (4; =a;and i < j))

(because i <y j is equivalent to (either a; < ajor (a; =ajandi < j)) (by the
definition of the relation <y)). This proves Proposition (a).

(b) Assume that i < j. Proposition (a) shows that we have the following
logical equivalence:

(s (i) <s(j)) <= |eithera; <ajor (a;=ajandi < j)

J

this is equivalent to (a,-:a j)
(since i<j is true)

e (either a; < ajora; = 11]) <~ (a,- < El]> .
This proves Proposition (b).

(c) Assume that i > j. Then, i < j is false. Proposition (a) shows that we
have the following logical equivalence:

(s (i) <s(j)) <= |eithera; <ajor (a; =ajandi < j)

N J/

this is false
(since i<j is false)

<= (either g; < gjor (false)) <= (a; < gj).

This proves Proposition ().
(d) We have the following logical implication:

(s (i) <s(j)) <= | eithera; <ajor \(ai =ajand i < j)/

this implies 2;,=a;

(by Proposition (@)
- (either a; < ajor a; = a]) <— (111' < 11]) .
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In other words, if s (i) < s (j), then a; < a;. This proves Proposition d. O

Next, let us show another simple property of standardization:

Proposition 6.12. Let P be a totally ordered poset. Let w = aja;---a, be a
word over the poset P. Let s be the standard permutation of w. We regard the
permutation s as a word over the poset {1,2,...,n} (where the partial order
on this poset is just the usual order inherited from Z) by writing s in one-line
notation. Then, the standard permutation of this word s is s again.

Before we prove this, let us prove a basic fact:

Lemma 6.13. Let n € IN. Let s and t be two permutations of {1,2,...,n}.
Assume that every two elements i and j of {1,2,...,n} satisfying i < j satisfy
the following logical equivalence:

(s () <s(j)) <= (t@{) <t())- (41)

Then, s = t.

Lemma is a restatement of the well-known fact that any permutation of
{1,2,...,n} is uniquely determined by its set of inversions. However, for the
sake of completeness, let us give a self-contained proof of Lemma [6.13]

Proof of Lemma Let u be the permutation sot~! of {1,2,...,n}. Then, u is
a bijection (since u is a permutation) and therefore an injection. It is easy to
see that every two elements i and j of {1,2,...,n} satisfy the following logical
equivalence:

(i <j) < (u(i)<u(j). “2)

]

Now, we are going to prove that u (k) = k for every k € {1,2,...,n}.

47 Proof of : Let i and j be two elements of {1,2,...,n}. We want to prove the equivalence
(42).

We must be in one of the following three cases:

Case 1: We have t~1 (i) < t71 (j).

Case 2: We have t~1 (i) = t71 (j).

Case 3: We have t~1 (i) > t71 (j).

Let us first consider Case 1. In this case, we have ¢! (i) < t~!(j). Thus, (applied to
t=1 (i) and t~! (j) instead of i and j) yields that we have the following logical equivalence:
(s(t71 () <s(t71(j))) < (t(t71(i)) <t(t'(j))). Thus, we have the following logical
equivalence:

(s (t—l (i)) <s(t—1 (j))) — t(t-l (i)) <t(t—1 (j)) — (i<]j).

=i =j
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Indeed, assume the contrary. Then, we don’t have
(u (k) =k for every k € {1,2,...,n}). Thus, there exists a k € {1,2,...,n} such
that u (k) # k. Let p be the smallest such .

We know that p is the smallest k € {1,2,...,n} such that u (k) # k. Hence, if
ke {1,2,...,n} is such that u (k) # k, then

k>p. (43)

On the other hand, p is the smallest k € {1,2,...,n} such that u (k) # k.
Hence, p is a k € {1,2,...,n} such that u (k) # k. In other words, p €

Hence, we have the following logical equivalence:

(<p) = |3 0) <s(10) | = | (or) @< (o))
S—— ———
:(sotfl)(i) :(sotfl)(]') —u ~
= (u(i) <u(j)).

Thus, is proven in Case 1.
Let us now consider Case 2. In this case, we have t~1 (i) = t71(j). Hence, i =

t|t71 (@) | = t(#7'(j)) = j. Therefore, we do not have i < j. Also, u ( i ) = u(j).

=t1()) =
Thus, we do not have u (i) < u (j). Hence, we have neither i < j nor u (i) < u (j). Therefore,
we have the logical equivalence (i < j) <= (u (i) < u(j)). Thus, is proven in Case 2.
Let us first consider Case 3. In this case, we have t~1 (i) > ¢t~ (j). Hence, if we had i = j,

then we would have ! (\1/) = t1(j), which would contradict +~1 (i) > t~!(j). Thus,
=]

we cannot have i = j. Moreover, u is an injection. Hence, if we had u (i) = u (j), then we

would have i = j, which would contradict the fact that we cannot have i = j. Hence, we

cannot have u (i) = u (j).

From t~1(i) > t1(j), we obtain t71(j) < t7!(i). Consequently, (applied to
t=1(j) and ¢! (i) instead of i and j) yields that we have the following logical equivalence:
(s(t71() <s(t71 (i) <= (t(t71(j)) <t(t71(i))). Thus, we have the following logical
equivalence:

(s (t-l (j)) <s(t—1 (i))) = t(t-l (j)) <t(t—1 (i)) — (j<i).

=j —i

Hence, we have the following logical equivalence:

(G<i) <= |s(t (1) <s(: D) | <= | (set) (D < (s07) ()
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{1,2,...,n} and u (p) # p- Let g = u=' (p). Then, u(q) = p. Also, p # q
Thus, u (q) = p # q. Hence, ¢ > p (by (@3), applied to k = g). Combined with
q # p, this yields ¢ > p. Thus, p < q. But (applied to i = p and j = q) yields
that we have the following logical equivalence: (p < q) <= (u(p) <u(q)).
Thus, u (p) < u(g) holds (since p < g holds). Hence, u (p) < u (q) = p.

If we had u (u (p)) # u (p), then we would have u (p) > p (by [@3), applied to
k = u (p)), which would contradict u (p) < p. Hence, we do not have u (1 (p)) #
u(p). In other words, we have u (1 (p)) = u(p). Since u is an injection, this
yields u (p) = p. This contradicts u (p) < p.

This contradiction proves that our assumption was wrong. Hence, we have
shown that u (k) = k for every k € {1,2,...,n}. Thus, every k € {1,2,...,n}
satisfies u (k) = k = id (k). Hence, u = id. Since u = sot~!, this rewrites as
sot™! =id. Thus, s = t. Lemma is thus proven. O

Proof of Proposition Let t denote the standard permutation of s (where we
regard s as a word by writing s in one-line notation). Regarded as a word, the

Hence, we have the following logical equivalence:

not j<i
—~—
this is equivalent to (u(j)<u(i))

> (notu(j) <u(i)) <= (u(j) = u(@)

= (@) <u(j)) < |uli) <u(j) or u(i) =u(j)
———
this is equivalent to (false)
(since we cannot have u(i)=u(j))

< (u(i) <u(j) or (false)) <= (u(i) <uf(j)).
Thus, we have the following logical equivalence:

(u (i) <u(j))

< (notj<i) <= (j>i) < (i<}))

< |i<jor i=j <= (i<jor (false)) <= (i <j).
~—~—
this is equivalent to (false)
(since we cannot have i=j)

In other words, we have the logical equivalence (i < j) <= (u (i) <u(j)). Thus, is
proven in Case 3.

We have now proven in each of the three Cases 1, 2 and 3. Since these three Cases
cover all possibilities, this yields that always holds. Qed.

#Pproof. Assume the contrary. Then, p = g, so that u [ p = u(q) = p. This contradicts
~—
=q
u (p) # p. This contradiction shows that our assumption was wrong, qed.
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permutation s has the form s =s(1)s(2)---s(n).

Let i and j be two elements of {1,2,...,n} such that i < j. Then, Proposition
(b) (applied to {1,2,...,n}, s, s (k) and t instead of P, w, a; and s) yields
that we have the following logical equivalence:

(£(@) <t(j)) <= (s(i) <s(j))-

Now, let us forget that we fixed i and j. We thus have proven that every
two elements i and j of {1,2,...,n} satisfying i < j satisfy the following logical
equivalence:

() <t(j)) = () <s(j))-
Lemma (applied to t and s instead of s and t) thus shows that t = s. In
other words, t is s. In other words, the standard permutation of s is s (since ¢ is
the standard permutation of s). This proves Proposition [6.12] O

We can now prove Proposition 3.1. Indeed, let us prove a slightly stronger
claim:

Proposition 6.14. Let 7t be a special double poset. Let n be the size of the
special double poset 7 (that is, the size of the underlying set of 7). Let w =
aiay - - - a, be a word whose letters belong to a totally ordered alphabet A.

(a) The word w fits into 7t if and only if the standard permutation of w fits
into 7t.

(b) Write the special double poset 7 in the form (E, <1, <3). Let w be the
labelling of the special double poset 7. Let s be the standard permutation of
w. The word w fits into 7t if and only if the map sow : E — {1,2,...,n} is
an order homomorphism (E, <1) — {1,2,...,n}. (Here, {1,2,...,n} denotes
the poset ({1,2,...,n}, <), where the relation < is the smaller relation of Z.
In other words, {1,2,...,n} = ({1,2,...,n},<z).)

Proposition (a) is precisely Proposition 3.1.

Proof of Proposition Write the special double poset 7t in the form (E, <, <3).
Let w be the labelling of the special double poset 7.

The map w is the labelling of the special double poset 7 = (E, <1, <2). In
other words, w is the unique order isomorphism (E, <p) — {1,2,...,n} (be-
cause the labelling of the special double poset (E, <1, <p) is the unique or-
der isomorphism (E, <3) — {1,2,...,n} (by the definition of the labelling of
the special double poset (E,<i,<7))). In particular, w is an order isomor-
phism (E,<2) — {1,2,...,n}. In other words, w is an order isomorphism
(E,<2) = ({1,2,...,n},<). Hence, for any two elements p and g of E, we
have the following logical equivalence:

(r<29) = (w(p) <w(q)) (44)
(by (B9), applied to (U, <y) = (E,<2), (V,<vy) = ({L,2,...,n},<) and f = w).
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The map w is an order isomorphism, thus a bijection, and therefore an injec-
tion.

Let s be the standard permutation of w. Then, s is a permutation, hence a
bijection. Thus, the map s o w is a bijection (since it is the composition of the two
bijections s and w). In particular, this yields that the map s o w is an injection.

Let 7 denote the map

E— A, e+ aw(e)'

The definition of the notion of “the word aja; - - - a, fits into 77”7 yields the
following: The word aya; - - - a, fits into 7t if and only if the map

E — A, e — aw(e)

is a rr-partition. In other words, the word a;a; - - - a, fits into 7t if and only if the
map 7 is a n-partition@ In other words, the word w fits into 7t if and only if the
map 7 is a 7-partition (since w = ayay - - - a,).

Definition [6.7] (applied to A and # instead of X and x) yields that 7 is a 7-
partition if and only if any two elements e and ¢’ of E satisfy

(e <1 ¢ implies 77 () < 7 (¢)) (45)
and
(e <1 ¢’ and e >, ¢’ implies 17 (¢) < 7 (¢')) . (46)

(b) We are going to prove the following two logical implications:

(the word w fits into )
—> (the map s o w is an order homomorphism (E, <1) — {1,2,...,n}) (47)

and

(the map s o w is an order homomorphism (E, <;) = {1,2,...,n})
—> (the word w fits into ). (48)

Proof of (#7): We assume that the word w fits into 77. We then want to show
that the map s o w is an order homomorphism (E, <1) — {1,2,...,n}.

Recall that the word w fits into 7r if and only if the map 7 is a 7r-partition.
Hence, the map 7 is a m-partition (since we know that the word w fits into 7).
In other words, any two elements e and ¢’ of E satisfy and (46)")

Now, let e and ¢’ be two elements of E such that e <; ¢/. We are going to
show that (sow) (e) < (sow) (¢'). This is obvious when e = ¢’ (because when

“since the map

E— A, e —r aw(e)
is the map 7
Ysince we know that 77 is a 7r-partition if and only if any two elements e and ¢’ of E satisfy @
and
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e = ¢, then (sow) (\e/_/) = (sow) (¢')). Hence, for the rest of this proof, we
=e!

can WLOG assume that we don’t have ¢ = ¢/. Assume this. Then, e # ¢’ (since
not e = ¢’) and thus e <1 ¢ (since e <; ¢’ and e # ¢’) and thus 77 (e) < 7 (¢/)
(by ). The definition of # yields 77 (e) = a,() and 7 (¢') = a, . Thus,
Aw(e) =1 (e) <7 ()= Ao (e

We must be in one of the following two cases:

Case 1: We have w (e) < w (€).

Case 2: We have w (e) > w (€).

Let us first consider Case 1. In this case, we have w (¢) < w(¢’). Hence,
Proposition [6.11] (b) (applied to i = w (¢) and j = w (¢')) yields that we have the
following logical equivalence:

(s(w(e) <s(w(e))) = (aw(e) < aw(e/)> :

Thus, we have s (w (¢)) < s (w (¢')) (since we know that we have a,,(,) < a,(e))-
Hence, (sow)(e) = s(w(e)) < s(w(e)) = (sow)(¢'). Thus, (sow)(e) <
(sow) (¢). We have thus proven (sow) (e) < (sow) (¢’) in Case 1.

Let us now consider Case 2. In this case, we have w (¢) > w (¢’). If we had
w(e) = w(e'), then we would have e = ¢’ (since the map w is an injection),
which would contradict e # ¢’. Hence, we cannot have w (¢) = w (¢/). We thus
have w (e) # w (¢’). Combined with w (e) > w (¢'), this yields w (e) > w (¢').
Thus, w (¢/) < w (e). But (applied to p = ¢’ and g = e) yields that we have
the following logical equivalence: (¢ <3 e¢) <= (w (¢) < w(e)). Hence, ¢’ <y e
holds (since w (¢/) < w (e) holds). Thus, e >; ¢/, so that e >; ¢’. Therefore,
yields 17 (e) < 17 (¢'). Hence, a, ) = 17 () < 17 (€') = agy(er)-

But w(e) > w(e¢’). Hence, Proposition (c) (applied to i = w (e) and
j = w (¢’)) yields that we have the following logical equivalence:

(s(w(e) <s(w(e))) < (aw(e) < aw(e/)) :

Thus, we have s (w (e)) < s (w (¢')) (since we know that we have a,,(,) < a¢(e))-
Hence, (sow) (e) = s(w(e)) < s(w(e)) = (sow)(¢'). Thus, (sow)(e) <
(sow) (¢). We have thus proven (sow) (¢) < (sow) (¢’) in Case 2.

Hence, we have proven (sow)(e) < (sow)(¢’) in each of the two Cases
1 and 2. Since these two Cases cover all possibilities, we thus conclude that
(sow) (e) < (sow) (¢') always holds.

Now, let us forget that we fixed e and ¢’. We thus have proven that if e and
¢’ are any two elements of E such that e <; ¢/, then (sow) (e) < (sow) (¢/). In
other words, the map s o w is an order homomorphism (E, <;) — {1,2,...,n}.
Thus, is proven.

Proof of (48): We assume that the map s o w is an order homomorphism
(E,<1) — {1,2,...,n}. We are going to show that the word w fits into 7.
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Let now e and ¢’ be any two elements of E. We will prove (45) and (46 .

Proof of [#5): Assume that e <; ¢’. We are going to show that 1 (e) < n(e).

We have e <7 ¢, so that e <1 ¢/. Thus, (sow) (e) < (sow)(€') (since the
map s o w is an order homomorphism (E, <;) — {1,2,...,n}). But if we had
(sow) (e) = (sow) (¢'), then we would have e = ¢’ (since the map s o w is an
injection), which would contradict e <; ¢’. Thus, we do not have (sow) (e) =
(sow) (¢'). In other words, we have (sow) (e) # (sow) (¢/). Combined with
(sow) (e) < (sow) (¢'), this yields (sow) (e) < (sow) (¢'). Thus,

s(we))=(sow)(e) < (sow)(¢) =s(w(e)). (49)

Thus, Proposition :l (d) (applied to i = w (e) and j = w (¢')) yields ay,,) <
A, (- But the definition of 1 yields 7 (e) = a, () and 7 (¢') = a,(). Hence,
1 (e) = ay(e) < dy(y = 11 (¢'). Hence, 17 (e) < 77 (€’) is shown. Thus, we have
proven (45).

Proof of (46): Assume that e <; ¢/ and e >, ¢. We are going to show that
1 (e) <1 (e).

We have e <7 ¢’. Hence, we can prove (in the same way as we have proved
it in our above proof of {#5)). Thus, we have s (w (e)) < s (w (¢')).

We have e # ¢ (since e <7 ¢’). Combined with e >; ¢/, this yields e >; ¢/,
so that ¢/ <, e. But (applied to p = ¢’ and g = e) yields that we have
the following logical equivalence: (¢/ <;e) <= (w(€') <w(e)). Thus, we
have w (¢/) < w(e) (since we have ¢/ <y e). Hence, w(e) > w(e), so that

w (e) > w(¢'). Thus, Proposition [6.11] (c) (applied to i = w (¢) and j = w (¢'))

yields that we have the following logical equivalence:

(s(w(e) <s(w(e))) < (aw(e) < aw(e/)> :

Hence, we have a,,) < 44 (smce we have s (w (e)) < s(w(e'))). But the
definition of 7 yields 77 (e) = a, () and 17 (¢) = a,,(y. Hence, 17 (e) = ay ) <
a,( =1 (¢'). Hence, 17 (e) <11 (e ( ) is shown. Thus, we have proven (46).

Now, we have proven both and (46).

Let us now forget that we fixed e and ¢. We thus have shown that any two
elements e and ¢’ of E satisfy and ({#6). In other words, the map 7 is a 7
partitioﬂ In other words, the word w fits into 7t (since we know that the word
w fits into 77 if and only if the map 7 is a r-partition). This proves (48).

We now have proven both implications and (48). Combining these two
implications, we obtain the logical equivalence

(the word w fits into )
<= (the map s o w is an order homomorphism (E, <;) — {1,2,...,n}).

>lsince we know that 77 is a 7r-partition if and only if any two elements e and ¢’ of E satisfy

and
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In other words, Proposition (b) is proven.

(a) Proposition (b) yields that the word w fits into 7 if and only if the map
sow:E — {1,2,...,n} is an order homomorphism (E,<1) — {1,2,...,n}. In
other words, we have the following logical equivalence:

(the word w fits into 7)

<= (the map s o w is an order homomorphism (E, <;) — {1,2,...,n}).
(50)

But Proposition [6.12 shows that the standard permutation of the word s is s
again. Hence, we can also apply to {1,2,...,n}, s and s (k) instead of A, w
and a;. As a result, we obtain the following logical equivalence:

(the word s fits into 1)

<= (the map s ow is an order homomorphism (E, <;) — {1,2,...,n}).
(51)

Hence, we have the following logical equivalence:

(the word w fits into 7)

<= (the map s o w is an order homomorphism (E, <;) = {1,2,...,n})
(by (B0))

<= (the word s fits into 77) (by (B1))

<= (the standard permutation of w fits into 7)
(since s is the standard permutation of w) .

In other words, Proposition (a) is proven. O

Now that we are already studying rr-partitions, let us also prove Theorem 1
in [G]. Let us first give our own version of it (whose equivalence to Theorem 1
in [G], however, is rather obvious, unlike that of Proposition 3.1):

Theorem 6.15. Let X be a totally ordered alphabet. For every double poset D,
we let A (D) denote the set of all D-partitions into X.

Let T = (E, <1, <3) be a special double poset. Then, the sets A ((E, <, <2)),
where < runs over all linear extensions of 7, are pairwise disjoint. The union
of these sets is A (7).

Theorem is not only easily seen to be equivalent to Theorem 1 in [G], but
also quickly yields [GriReil5| Theorem 5.2.11].

Before we prove Theorem let us state an auxiliary fact which itself might
be of some interest:
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Proposition 6.16. Let X be a totally ordered alphabet. For every double poset
D, we let A (D) denote the set of all D-partitions into X.

Let m = (E, <1,<2) be a special double poset. Let n be the size of the
special double poset 7t (that is, the size of the underlying set E of 7). Let w
be the labelling of the special double poset 7. Thus, w is the unique order
isomorphism (E, <2) — {1,2,...,n} (by the definition of the labelling of the
special double poset (E, <1, <2)).

For every f : E — X, we let w(f) denote the word
f(w™t (@) f(w™(2)) - f(wt(n)). This word w (f) gives rise to a binary
relation <, (s on the set {1,2,...,n} (defined according to Definition ,

w

and this relation, in turn, gives rise to a binary relation <<w( f)> on the set
E

(@) If f € A (), then the binary relation <<w( f)>w is a linear extension of
T.
(b) If < is any linear extension of 7, then

A((E, <,<2)) = {f € A(m) | the binary relation <—<w(f)>w equals —<}.

Proof of Proposition We know that the map w is an order isomorphism (E, <;) —
({1,2,...,n},<). Hence, for any two elements p and g of E, we have the follow-
ing logical equivalence:

(p<2q) <= (w(p) <w(q)) (52)

(by (39), applied to (U, <y) = (E,<2), (V,<v) = {1,2,...,n},<) and f = w).

The map w is an order isomorphism, thus a bijection, thus an injection.

(@) Let f € A(m). Then, f is an element of A (7). In other words, f is a -
partition into X (since A (77) is the set of all 7r-partitions into X (by the definition
of A (m))).

Definition |6.7| (applied to x = f) yields that the map f is a 7r-partition if and
only if any two elements e and ¢’ of E satisfy

(e <1 ¢ implies f (e) < f (¢')) (53)
and
(e <1 ¢ and e >, ¢ implies f () < f (¢)). (54)
Hence, any two elements e and ¢’ of E satisfy and (since f is a 7T-
partition).

Proposition [6.8| (b) (applied to w (f), f (w™! (k)) and X instead of w, a; and
P) yields that the binary relation <,y is the smaller relation of a total order on
the set {1,2,...,n}. Thus, Proposition (applied to E, {1,2,...,n}, <) and
w instead of A, B, <p and f) yields that the relation <<w( f)>w is the smaller
relation of a total order on E.
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w
We shall now show that this relation <<w( f)> extends the first order <; on
E.
For any two elements e and ¢’ of E, we have the following logical equivalence:

(¢ (=win) <)
<= (either f(e) < f(¢') or (f(e)=f(¢) andw (e) <w (¢'))).  (55)
&
Now, let e and ¢’ be two elements of E such that e <; ¢/. We are going to show
that e <<W(f)> e.

We now recall that < is a total order (since (E, <1, <3) is a special double
poset). Hence, we have either e <; ¢’ or e >; ¢’. In other words, we must be in

52Proof of : Let e and ¢’ be two elements of E. We need to prove the logical equivalence .
Define n elements ay, ay, ..., a, of X by (ay = f (w™! (k)) forevery k € {1,2,...,n}).

Then, aya; - ay = f (w1 (1)) f (w1 (2)) -+ f (wL (n)) = w (f).

Leti = w (e) and j = w (¢'). Then, the definition of a; yields a; = f | w ™! (i) = f(e),

(since?:w(e))

and the definition of 4; yields a; = f w L)) = f ().
——
(since?iw (e")

Recall that w(f) = maz---a,. Hence, we have i =< j if and only if

(either a; < aj or (a; = ajand i < j)) (due to the definition of “i <5 j”). In other words,
we have the following logical equivalence:

(z’ ~w(f) j) = (either a; < ajor (ﬂi =ajand i < ])) :

We have e<-<w(f))we’ if and only if w(e) <y w(e) (due to the definition of

“

e <—<w( f))w ¢’”). Hence, we have the following logical equivalence:

(e (=win) " #)

/ . .
— &)\(’el<w(f)w(e) = (z <w<f)])
=i =j
<~ |either a; < a; or aj = a; and i < ]
~— ~ —~ =X~

N
=€) =fe)  \=FO  =fy  TUO =w(@)
< (either f (e) < f (¢) or (f(e)=f(¢) and w (e) < w (¢')

Thus, is proven.
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one of the following two cases:

Case 1: We have e <5 €.

Case 2: We have e >; €.

Let us first consider Case 1. In this case, we have e <; ¢/. Applying to
p = e and g = ¢/, we obtain the following logical equivalence: (e <;¢') <=
(w(e) < w(e')). Hence, we have w (¢) < w (€') (since e <, €). But shows
that f (e) < f(€') (since e <1 €'). Thus, either f(e) < f(¢') or f(e) = f(¢).
Hence, either f(e) < f (') or (f(e) = f(¢') and w (e) < w (¢')) (because we

w

have i < j). Thus, we have e <'<w(f)> ¢’ (because of the equivalence ).

Hence, e <—<w( f)>w ¢’ is proven in Case 1.
Let us now consider Case 2. In this case, we have ¢ >, ¢’. Hence, shows
that f (e) < f (¢') (since e <1 ¢’). Hence, either f (¢) < f (¢') or
w
(f(e) = f(¢) and w (e) < w (¢')). Thus, we have e (<w(f)> ¢’ (because of the

w
equivalence ). Hence, e (<w( f)> ¢’ is proven in Case 2.
Thus, e (%w( f)>w ¢’ is proven in each of the two Cases 1 and 2. Since these

two Cases cover all possibilities, this yields that e ( ~w( f)> “ always holds.
Let us now forget that we fixed e and ¢’. We thus have shown that if e and ¢’ are

any two elements of E such that e <; ¢/, then e <—<w( f)>w ¢’. Hence, the relation
<<w( f)>w extends the relation <;. Combining this with the fact that (%w( f)>w

w
is the smaller relation of a total order on E, we conclude that <<w( f)) is a total

order on E which extends the first order <; of E. In other words, <<w( f)>w is

a linear extension of 7t (because this is how a linear extension of 7 is defined).
This proves Proposition (a).

(b) Let < be any linear extension of 7. In other words, < is a total order on E
which extends the first order <q of E (because this is how a linear extension of
7t is defined).

We are going to prove that

A((E,<,<2)) C {f € A(m) | the binary relation (—<w(f)>w equals —<} (56)
and

{f € A(m) | the binary relation <<W(f)>w equals <} CA((E, =, <2)).
(57)
Proof of (56): Let g € A((E,<,<2)). We shall show that g € A () and that

w

the binary relation <—<w( f)> equals <.

We know that g is an element of A((E,<,<2)). In other words, f is a
(E, <, <p)-partition into X (since A ((E, <, <3)) is the set of all (E, <, <p)-partitions
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into X (by the definition of A ((E, <, <3)))).

Definition [6.7] (applied to g, < and (E, <, <») instead of x, <; and ) yields
that the map g is a (E, <, <p)-partition if and only if any two elements ¢ and ¢’
of E satisfy

(e < ¢ implies g (¢) < g (¢')) (58)
and
(e < ¢ and e >, ¢ implies g (¢) < g (¢')) . (59)

Hence, any two elements e and ¢’ of E satisfy and (since gisa (E, <, <2)-
partition). Now, it is easy to see that any two elements e and ¢’ of E satisfy

(e <1 ¢ implies g (¢) < g (¢')) (60)

P3and
(e <1 ¢’ and e >, ¢ implies g (¢) < g (¢')) (61)

@ But Definition 6.7] (applied to x = g) yields that the map g is a 7-partition
if and only if any two elements ¢ and ¢’ of E satisfy and (61). Hence, the
map g is a rr-partition (since any two elements e and ¢’ of E satisfy and
(61)). More precisely, g is a 7r-partition into X. In other words, g is an element
of A () (since A (7r) is the set of all m-partitions into X (by the definition of
A (77))). That is, we have g € A (7).

It is easy to see that any two elements e and ¢’ of E satisfying e < ¢’ satisfy

(either g (e) < g (¢') or (g(e) =g (¢') and w(e) < w (¢'))) (62)
B3l

53Proof of (60): Let e and ¢’ be two elements of E. We need to prove (60). Assume that e <; ¢'.
Then, e < ¢ (since the relation < extends the first order <; of E). Hence, g(¢) < g(¢)
(according to (58)). This proves (60).

54Proof of (61): Let e and ¢’ be two elements of E. We need to prove . Assume that e < ¢
and e >, ¢/. We have ¢ <1 ¢’; therefore, ¢ < ¢’ (since the relation < extends the first order <4
of E). Hence, g (¢) < g (¢') (according to (59)). This proves .

55 Proof of (62): Let e and ¢’ be two elements of E satisfying e < ¢’. We need to prove (62).

We distinguish between two cases:

Case 1: We have w (e) < w (€').

Case 2: We don’t have w () < w (¢').

Let us first consider Case 1. In this case, we have w () < w (¢’). If we have w (¢) = w (¢'),
then we have e = ¢ (since w is an injection), which contradicts e < ¢/. Hence, we cannot
have w (¢) = w (¢). We thus have w (¢) # w (¢'). Combined with w (¢) < w (¢’), this yields
w (e) <w (€'). Also, e < ¢, and thus g (¢) < g () (due to (58)). In other words, either g (¢) <
g(¢') or g(e) = g(e'). Hence, either g(e) < g(¢') or (g(e) =g(¢) and w(e) < w (¢'))
(because we have w (¢) < w (¢’)). Thus, is proven in Case 1.

Let us now consider Case 2. In this case, we don’t have w (¢) < w (¢’). In other words, we
have w (e) > w (¢’). In other words, w (¢') < w (e). Applying to p = ¢ and g = e, we ob-
tain the logical equivalence (¢/ <z e) <= (w (¢’) < w (e)). Thus, we have ¢’ <; e (since we
have w (¢') < w (e)). In other words, e >, €/, so that e > ¢’. Recall also that e < ¢’. Thus,
shows that ¢ (¢) < g (¢’). Hence, either g (¢) < g(¢') or (g(e) = g(€¢/) and w (e) < w (¢')).
Thus, is proven in Case 2.

We have now proven (62) in each of the two Cases 1 and 2. Since these two Cases cover all
possibilities, this shows that always holds, qed.
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Now, let i and j be any two elements of E. We are going to prove that we have
w

the logical equivalence (i <<w(g) ]) == (i <7j).

In the proof of Proposition (a), we have shown that for every f € A ()
and every two elements e and ¢’ of E, the logical equivalence holds. Thus,
(applied to f = g, e =i and ¢’ = j) shows that we have the following logical
equivalence:

(i (<win) i)
< (either g (i) < g(j) or (3()) =g(j) andw (i) <w(j)))  (63)

(since we have g € A (7)). Also, (applied to f = ¢, e = j and ¢’ = i) shows
that we have the following logical equivalence:

w
(i (=) )
= (either g (j) <g (i) or (g(j) =g (i) and w (j) <w(i))).  (64)
Now, let us recall that < is a total order. Thus, we have eitheri < jori=jor
j < i. In other words, we must be in one of the following three cases:
Case 1: We have i < j.
Case 2: We have i = j.
Case 3: We have j < i.
Let us first consider Case 1. In this case, we have i < j. Hence, (applied
to e =i and ¢ = j) yields

(either g (i) < g (j) or (g (i) =g (j) and w (i) < w (j)))-
Therefore, we have i <—<w(g)>w j (according to the equivalence ). Thus, both

statements <i (%w(g)>w ]> and (i < j) hold. Therefore, we have the equivalence

. w . . . . a} .
(1 <<w(g)> ]) <= (i <j). Hence, the equivalence (1 (<w(g)) ]) =
(i < j) is proven in Case 1.

Let us now consider Case 2. In this case, we have i = j. Hence, we have nei-

w w
ther (i <—<w(g)) ]) nor (i < j) (because both (—<w(g)) and < are total orders).
Therefore, we have the equivalence <i <<w(g)>w ]> <= (i <j). Hence, the
equivalence (i (%w(gowj) <= (i <) is proven in Case 2.

Let us finally consider Case 3. In this case, we have j < i. Hence, (applied
to e = jand ¢ = i) yields

(either g (j) < g (i) or (3(j) = g (i) and w (j) < w (i))).
g)>wi (according to the equivalence ). Therefore, we

w w
j (since the relation <<w(g) is asymmetric (because

Thus, we have j (%w(

do not have i (%W(g)
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w
(%w(g» is a total order)). Also, we have j < i, and thus we do not have
i < j (since the relation < is asymmetric (because < is a total order)). Hence,

w w
we have neither (i <<w(g)> ]> nor (i < j) (because both <<w(g)> and < are
total orders). Therefore, we have the equivalence (i <'<w(g))w ]> = (i <7]).
Hence, the equivalence <i (<w(g)>w ]> <= (i <) is proven in Case 3.

We thus have proven the equivalence (i (%w(g)yu ]> <= (i <j) in each of
the three Cases 1, 2 and 3. Since these three Cases cover all possibilities, this
yields that the equivalence (i (%W(g))w ]> <= (i < j) always holds.

Now, let us forget that we fixed i and j. We thus have proven the logical

equivalence <i (%w(g))wj) <= (i <j)foralli € E and j € E. In other words,
the binary relation <<W(g)>w equals <.

So we know that ¢ € A(7), and that the binary relation (%w(g)yu equals
<. In other words, g is an element f of A (m) such that the binary relation

<'<w( f))w equals <. In other words,

g€ {f € A(m) | the binary relation <<w(f)>w equals 4}.

Let us now forget that we fixed g. We thus have shown that
w
g€ { f € A(m) | the binary relation <<w(f)> equals <} for every
g € A((E, <,<2)). In other words,

A((E, <, <2)) C {f € A(m) | the binary relation <—<w(f))w equals —<}.

This proves (56).
w
Proof of (57): Let g € {f € A(mr) | the binary relation (‘<w(f)> equals —<}.

Then, g is an element f of A (71) such that the binary relation <<w( f))w equals

<. In other words, g is an element of A (77), and the binary relation (%w(g)yd

equals <.

In the proof of Proposition (a), we have shown that for every f € A ()
and every two elements e and ¢’ of E, the logical equivalence holds. We are
going to use this in the following.

We are going to prove that ¢ € A((E, <,<2)). In order to do so, we shall
show that any two elements e and ¢’ of E satisfy and (59).

Let e and ¢’ be two elements of E. Let us first prove (58).

Indeed, we assume that ¢ < ¢’. Then, we have ¢ < ¢'. In other words,

e <<w(g)>we’ (since the binary relation (%w(g))w equals <). But recall that
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g € A (). Thus, we can apply to f = g. As a result, we conclude that the
following logical equivalence holds:

(¢ (<we) " ¢)

< (either g(e) < g(¢') or (g(e) =g (¢) and w(e) < w (¢'))).
Therefore, we have
(either g (e) < g (¢') or (g(e) =g (¢) and w(e) < w (¢')))

(since we have e <<w(g)>w ¢’). Consequently, we have

(either g (e) < g (¢') org(e) =g (€))

(because of the logical implication
(g(e) =g(¢') and w (e) < w (e')) = (g(e) =g (€'))). In other words, g (¢) <
g (¢’). This proves (58).

Let us next prove (59).

Indeed, we assume that e < ¢’ and e >; €. Then, it is easy to see that w (e) <

w(€) is falsﬁ Now, recall that e < ¢’. In other words, e <—<w(g))we’ (since

the binary relation (%W(g))w equals <). But recall that g € A (7). Thus, we

can apply to f = g. As a result, we conclude that the following logical
equivalence holds:

(e (=) ¢)

< |eitherg(e) <g(¢') or | g(e) =g (¢') and w(e) <w (¢)
—_——
this is false
(since w(e)<w(e') is false)

<= | either g(e) < g(¢') or \(g (e) =g (¢') and (false))

>

this is false

< (either g (e) < g (¢') or (false)) < (g(e) <g(¢)).

Hence, we have g (¢) < g (¢’) (since we have e <<w(g)>w ¢’). This proves .

% Proof. Assume the contrary. Then, we have w (¢) < w (¢'). Applying top=candg=7¢,
we obtain the logical equivalence (e <3 ¢’) <= (w(e) < w(€')). Hence, we have e <, ¢
(since we have w (e) < w (¢’)). But this contradicts e >, ¢’. This contradiction shows that our
assumption was wrong, qed.
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Now, let us forget that we fixed e and ¢/. We thus have proven that any two
elements e and ¢’ of E satisfy and (59).

But Definition (applied to g, < and (E, <, <) instead of x, <7 and )
yields that the map g is a (E, <, <p)-partition if and only if any two elements
e and ¢’ of E satisfy and (59). Hence, g is a (E, <, <p)-partition (since we
know that any two elements e and ¢’ of E satisfy and (59)). More precisely, g
isa (E, <, <p)-partition into X. In other words, g is an element of A ((E, <, <2))
(since A ((E, <, <2)) is the set of all (E, <, <p)-partitions into X (by the definition
of A((E,<,<2)))). Thus, g € A((E, <, <2)).

Let us now forget that we fixed g. We thus have shown that g € A ((E, <, <3))
for every

g€ { f e A(m) | the binary relation <<w( f)>w equals <}. In other words,

{f € A(mr) | the binary relation <—<w(f)>w equals —<} CA((E <,<2)).

This proves (57).
We thus have proven the inclusions and (57). Combining these two inclu-
sions, we obtain

A((E, <,<2)) = {f € A(m) | the binary relation <<w(f)>w equals <}.

This proves Proposition (b). O
Proof of Theorem We have

A((E, <,<2)) = {f € A(rmr) | the binary relation (%w(f))w equals %}

for every linear extension < of 7t (due to Proposition (b)).

The sets { f € A(m) | the binary relation (%w( f)> equals < }, where < runs
over all linear extensions of 71, are pairwise disjoint (since the binary relation

<<W( f)> ¢ is uniquely determined by f). In other words, the sets A ((E, <, <2)),

where < runs over all linear extensions of 71, are pairwise disjoint (because
w

A((E, =,<2)) = {f € A(m) | the binary relation (%w(f)> equals <} for ev-
ery linear extension < of 7). Thus, in order to prove Theorem it remains
to show that the union of these sets is A (77). In other words, it remains to show
that

U {f € A(m) | the binary relation (—<w(f)>w equals —<}

< is a linear
extension of 7

= A(n). (65)
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But we have

A () C U {f € A(m) | the binary relation <—<w(f)>w equals —<}

< is a linear
extension of 7T

Combining this with

U { f € A(m) | the binary relation <<w(f)>w equals <}

(. J/

< is a linear ~~
extension of 7w CA(m)

c U AmcAm), _

< is a linear
extension of 7T

we obtain

U {f € A(rm) | the binary relation <—<w(f))w equals —<} =A(m).

< is a linear
extension of 7w

This proves (65). Thus, the proof of Theorem is complete. O

57 Proof. Let ¢ € A(nm). Then, the binary relation (<w(g))w is a linear ex-
tension of m (according to Proposition (a), applied to f = g). Thus,
w

{fe A(m) | the binary relation (*w(f))

w
equals (<w(g)> } is a summand in the union
w

U { f € A(m) | the binary relation (-<W( f)) equals -<}. As a consequence,

< is a linear
extension of 7w

{f € A(m) | the binary relation (<w(f))w equals (<w(g)>w}
C U {f € A(m) | the binary relation (-<w(f))w equals -<}.

< is a linear
extension of 7w

But g is an element f of A (77) such that the binary relation (—<w( f))w equals <—<W(g))w (since

g is an element of A (77), and since the binary relation (%w(g))w equals (%w(g))w). In other
words,

Qg€ {f € A(m) | the binary relation (<w(f)>w equals (<w(g))w}

C U {f € A(m) | the binary relation (-<w(f))w equals -<} :

< is a linear
extension of 7t

Let us now forget that we fixed g. We thus have shown that every ¢ € A (7) satisfies
w
g€ U { f € A(m) | the binary relation <-<w( f)> equals —<}. In other words,

< is a linear
extension of 7

A(mr) C U {f € A(m) | the binary relation <<w(f))w equals <} ,

< is a linear
extension of 7

ged.
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7. Some brief remarks

7.1. How nondegenerate is the form?

As mentioned in the errata above, the bilinear form (-,-) on ZD gives rise to a
Hopf algebra homomorphism ZD — (ZD)* which is not bijective. However,
[Foissy11, Theorem 36 1.] shows that this homomorphism is at least injective; it
becomes bijective upon base change from Z to a characteristic-0 field.

We can in fact say a bit more. For any double poset E = (E, <1, <2), we define
its relational weight rlw (E) to be the integer

rlw (E) := (# of pairs (i,j) € E x E such thati < j)
— (# of pairs (i,j) € E x E such thati <; j).

It is easy to see the following (essentially a result of Foissy in [Foissy11} proof of
Theorem 36 1.]):

Proposition 7.1. Let E and F be two double posets. Let F be the double poset
obtained from F by swapping its two orders (i.e.: if F = (F, <1, <2), then
F = (F, <2,<1)). Then:

@) If rlw (E) > rlw (f >, then there exists no picture from E to F, and thus
we have (E, F) = 0.

(b) If rlw (E) = rlw (f), then the pictures from E to F are precisely the
double poset isomorphisms from E to F.

(0 If rlw (E) = rlw (f) but not E = F as double posets, then (E, F) = 0.

(d) If E = F as double posets, then (E,F) = |AutE|, where AutE is the
group of automorphisms of the double poset E.

Proof sketch. Write the double posets E and F as E = (E,<;,<2) and F =
(F,<1,<2). (Do not worry about the double meaning of the notations <; and
<y; the context will always make clear on which poset we are working on.)

(a) Let ¢ : E — F be a picture. Consider the map

from {pairs (i,j) € E x E such thati <; j}
to {pairs (u,v) € F x F such that u <, v}

that sends each pair (i,j) to (¢ (i),¢ (j)). This map is well-defined (since ¢ is a
picture, so that i < j entails ¢ (i) <2 ¢ (j)) and injective (since ¢ is bijective).
Hence,

(# of pairs (i,j) € E x E such that i <7 j)
< (# of pairs (u,v) € F x F such that u <, v).
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Similarly, using ¢! instead of ¢, we obtain

(# of pairs (i,j) € F x F such thati <; j)
< (# of pairs (u,v) € E x E such that u <3 v).

Adding these two inequalities together, we find

(# of pairs (i,j) € E x E such that i <1 j)
+ (# of pairs (i,j) € F x F such thati <1 )
< (# of pairs (u,v) € F x F such that u <; v)
+ (# of pairs (u,v) € E x E such that u <, v).

In other words,

(# of pairs (i,j) € E x E such thati < )

— (# of pairs (#,v) € E x E such that u <3 v)
< (# of pairs (u,v) € F x F such that u <, v)

— (# of pairs (i,j) € F x F such thati <y j).

This inequality can be rewritten as rlw (E) < rlw (f ) (since its left hand side is

rlw (E), while its right hand side is rlw <f ) ).
Forget that we fixed ¢. We thus have shown that if ¢ : E — F is any picture,
then rlw (E) < rlw (f ) Hence, if rlw (E) > rlw (f ), then there exists no picture

from E to F, and thus we have (E,F) = 0 by the definition of the pairing (, ).
This proves Proposition [7.1] (a).

(b) Assume that rlw (E) = rlw <f) Let ¢ : E — F be a picture. Revisit the
above proof of Proposition [7.1| (a), and note that the new assumption rlw (E) =
rlw (f > means that equality must hold in all relevant inequalities. Hence, in
particular, the map

from {pairs (i,j) € E x E such that i < j}
to {pairs (u,v) € F x F such that u <, v}

that sends each pair (i,j) to (¢ (i),¢ (j)) must not only be injective, but also be
surjective (otherwise, the inequality that it leads to would be a strict inequality),
and hence bijective. In other words, for any pair (i,j) € E X E, we have i < j if
and only if ¢ (i) <2 ¢ (j) (since ¢ is a bijection). In other words, the map ¢ is an
order isomorphism from (E, <1) to (F,<y). Similarly, the map ¢! is an order
isomorphism from (F, <1) to (E, <3). In other words, ¢ is an order isomorphism
from (E, <) to (F, <1).

Now we know that ¢ is both an order isomorphism from (E, <1) to (F, <3)
and an order isomorphism from (E, <3) to (F, <1). In other words, ¢ is a double
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poset isomorphism from (E, <1, <) to (F, <2, <1). In other words, ¢ is a double
poset isomorphism from E to F (since E = (E, <1, <p) and F = (F, <3, <1)).

Forget that we fixed ¢. We thus have shown that each picture ¢ : E — F is
a double poset isomorphism from E to F. Conversely, it is easy to see that any
double poset isomorphism from E to F is a picture ¢ : E — F. Combining these
two facts, we conclude that the pictures ¢ : E — F are precisely the double poset
isomorphisms from E to F. This proves Proposition [7.1] (b).

(c) Assume that rlw (E) = rlw <f) but not E = F as double posets. As

we recall, (E, F) is defined as the number of all pictures ¢ : E — F. But these
pictures are precisely the double poset isomorphisms from E to F (by Proposition
(b)), and the number of these isomorphisms is 0 (since we don’t have E = F
as double posets). Hence, we conclude that (E, F) = 0. This proves Proposition
(c).

(d) Assume that E = F as double posets. Then, of course, rlw (E) = rlw <f )

As we recall, (E, F) is defined as the number of all pictures ¢ : E — F. But these
pictures are precisely the double poset isomorphisms from E to F (by Proposition
(b)), and these are clearly in bijection with the double poset isomorphisms
from E to E (since E = F as double posets), i.e., with the automorphisms of the
double poset E. Hence, we conclude that (E, F) is the number of all automor-
phisms of the double poset E. In other words, (E, F) = |Aut E|, where AutE is
the group of automorphisms of the double poset E. This proves Proposition
(d). O

Proposition tells us something about the Gram matri@ of the bilinear
form (,) on the basis D of ZD: Namely, this matrix is upper-triangular up to a
permutation of its rows (or columns), and its diagonal entries (after this permu-
tation) are the numbers |Aut E| for all double posets E. Since these numbers are
not all invertible in Z (in fact, some of them are larger than 1), we conclude that
the form (, ) fails to be nondegenerate; however, it becomes nondegenerate if we
change our base ring from Z to a characteristic-0 field.

We can actually rescale the form (,) to make it nondegenerate: Namely, we
define a new bilinear form ¢, >/ :ZD x ZD — Z by

_ |{pictures a : E — F}|

(E,F) := AutE] (66)

for all double posets E and F. We claim the following:

BIf f : V x V — k is a bilinear form on a k-module V, then its Gram matrix on a given basis
(b1,by, ..., by) of V is the matrix (f (b;, bf>)i,je{1,2,.“,m} e k™" Of course, this definition
applies (with the obvious changes) to infinite bases as well. One of the main uses of Gram
matrices is in determining whether a bilinear form is nondegenerate: A bilinear form f :
V x V — k on a finite-dimensional k-vector space V over a field k is nondegenerate if and
only if its Gram matrix (on any given basis) is invertible. We shall use a variant of this
result here, in which V is infinite-dimensional but graded, and we use the graded version of
nondegeneracy.
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Proposition 7.2. (a) This form (, ) is well-defined (i.e., the fraction on the right
hand side of really is an integer).

(b) However, this new bilinear form ¢, >/ is no longer symmetric.

(c) Nevertheless, it still satisfies

(EF,G) = (E®F,sG)’

for any three double posets E, F, G.
(d) But it does not satisfy (G,EF)’ = (§G,E® F)’, so it does not make the
Hopf algebra ZD self-dual.

Proof idea. (a) Let E and F be two double posets. Then, the automorphism group
Aut E of the double poset E acts freely on the set of all pictures & : E — F. (The
action is a right action by composition: ap = a o ¢ for any picture « : E — F
and any automorphism ¢ € AutE.) Hence, |{pictures a : E — F}| is a multiple
of |Aut E|. Thus, the fraction on the right hand side of really is an integer.
This proves Proposition [7.2] (a).

(b) This is easy to see: Let E = ({1,2},<g,<gz) and F = ({1,2},<g,<z),
where < is the antichain partial order (i.e., no two distinct elements are com-
parable). Then, |AutE| = 2 but |AutF| = 1 (since the second order of F dis-
tinguishes the two elements). But (E,F) = 2 (indeed, since the first orders on
both E and F are antichains, it is clear that the pictures from E to F are just the

2 2
bijections from E to F). Hence, (E,F)' = 5 but (F,E) = T which of course is

not the same. Thus, the form (, )’ is not symmetric. This proves Proposition
(b).

(c) This follows from (EF, G) = (E ® F,G), which is proved on page 3, once
we show that Aut (EF) = AutE x AutF. But the latter is a nice exercise (show
that the second order on EF forces any automorphism of EF to send E to E and
F to F).

(d) Easy counterexample omitted. O

7.2. What is the kernel of T' ?
What is the kernel of the morphism I' : ZD — QSym from Theorem 2.2?

7.3. The kernel of L

Note that it is not hard to describe the kernel of the map L : ZDS — ZS (defined
on page 7). Namely:

Proposition 7.3. The kernel of the map L : ZDS — ZS is spanned by all
elements of the form

[E4+(a<1b)]+[E+(b<qya)]—E (67)
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where E = (E, <1, <) is a special double poset and 4 and b are two incom-
parable elements of (E,<1). Here, the notation “[E + (a <1 b)]” means the
double poset E with its first order <; extended so that a becomes smaller
than b (and thus all elements that are <; a become smaller than all elements
that are >; b). Likewise, the notation “[E + (b <1 a)]” is to be understood.
(The second orders of all three posets are the same.)

Proof idea. It is easy to see that any element of the form lies in the kernel of
L, since any linear extension of E is either a linear extension of [E + (a <1 b)] or
a linear extension of [E + (b <; a)] (but not both).

It remains to show that these elements span Ker L. For this, it suffices to
show that any isomorphism class E of a special double poset can be reduced
to a linear combination of double total orders (i.e., double posets whose both
orders are total) by adding a few elements of the form (67). This can be proved
by induction on the number of incomparable pairs in the first order of E (that
is, pairs (a,b) € E x E that satisfy neither a <; b nor b <; a). In fact, each of
the two double posets [E + (a <1 b)] and [E + (b <; a)] has fewer incomparable
pairs in its first order than E does, and so we can apply the induction hypothesis
to them. O

The elements of the form (67) have another peculiar property:

Proposition 7.4. Let E = (E, <1, <7) be a double poset, and let F be a special
double poset. Let a and b be two elements of E that are incomparable in the
poset (E, <1). Then,

([E-I—(a<1b)]-l—[E-l—(b<1a)]—E)oF:O.

(See Proposition [7.3|for the meaning of [E + (a < b)] and [E + (b <; a)].)

Proof idea. Write E and F as E = (E,<p1,<p2) and F = (F,<p1, <pz). Then,
Lemma [6.5](d) yields

EoF = Z (E,(<F1)¢,<E2>,’

¢ is an increasing
bijection (EI<E1 )—) (F,<1:2)

[E+(a<1b)]oF = Y. (E, (<r1)?, <E2) ;

¢ is an increasing
bijection (E,<[E+(a<1b)}>—>(F,<F2)

[E+(b<ia)]oF = Y. (E, (<r1)?, <E2> :

is an mcreasmg

¢
bijection ( [E+(b<a) ) (F.<r2)

But an increasing bijection ¢ : (E,<p1) — (F,<pp) is either an increasing
bijection from ([E + (a <1 b)],<1) to (F,<pz) or an increasing bijection from
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([E+ (b<q1a)],<1) to (F,<p) (depending on whether it satisfies ¢ (a) <pp
¢ (b) or satisfies ¢ (b) <2 ¢ (a) (in fact, one of these two inequalities must hold,
since F is special)). Hence, the above equalities yield

[E+(a<ib)]oF+[E+(b<ya)JoF=EoF.
This proves Proposition [7.4] O

Corollary 7.5. The kernel of the map L : ZDS — ZS is the Jacobson radical
of the nonunital algebra (ZDS, o).

Proof idea. Consider the internal multiplication o on ZS given by multiplying
permutations of the same size: i.e., by

ot ot, ifo,T € S, for the same n;
(@] =
0, ifceS,and T €Sy, forn # m.

The algebra (ZS, o) is just the direct product of the group rings of the symmetric
groups S, for all n > 0. As such, it is “almost unital” (its unity would be the
sum of all identity permutations, if this sum was not infinite); it is a nonunital
Frobenius algebra (with the Jollenbeck scalar product being the Frobenius form),
and its Jacobson radical is 0 (by Maschke’s theorem). The map L : ZDS — ZS
is a surjective ring morphism from the nonunital ring (ZDS, o) to the nonunital
ring (ZS, o).

If a € KerL, then Proposition shows that a4 is a linear combination of
elements of the form @, and therefore Proposition shows that ao F = 0 for
each special double poset F; hence, a0 b = 0 for each b € ZDS. In particular, we
thus have s o b = 0 for each a € Ker L. This shows that the ideal Ker L of ZDS
is nilpotent. Hence, Ker L is contained in the Jacobson radical of (ZDS, o).

Conversely, any element of the Jacobson radical of (ZDS, o) must be mapped
to an element of the Jacobson radical of (ZS, o) under the map L (since L is a
surjective ring morphism). But the Jacobson radical of (ZS, o) is 0. Thus, any
element of the Jacobson radical of (ZDS, o) must be mapped to 0 under the
map L. In other words, the Jacobson radical of (ZDS, o) is contained in Ker L.
Altogether, Corollary [7.5]is proved. O

Corollary 7.5 is somewhat reminiscent of the projection map NSym — Sym,
whose kernel is (at least in characteristic 0) the Jacobson radical of the nonunital
algebra that is NSym under the internal product. (This was originally proved
by Solomon in the language of descent algebras; it served as a foundation for
the Garsia-Reutenauer study of the descent algebra [GarReu89, Theorem 1.1].)
Can we do the Garsia-Reutenauer descent-algebra theory for ZDS instead of the
descent algebra?
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7.4. Weirder questions

Here are two open-ended questions that crossed my mind:

* Can double posets be seen as bimodules over some sort of algebra, and the
internal product correspond to tensoring these bimodules? Or what other
categorical reason is there for the associativity of the internal product?

e When do two double posets (E, <1, <z) and (F, <1, <p) satisfy

(number of pictures from (E, <1, <2) to (F,<1,<2))
= (number of pictures from (E, <1,>3) to (F,<y,>2)) ?

This would generalize a symmetry of the Littlewood-Richardson coeffi-
cients.
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